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TNPSC GROUP I – TEST BATCH 2022 

TEST XXII – PREMODEL II  
UNIT I GENERAL SCIENCE, UNIT II CURRENT AFFAIRS, UNIT III GEOGRAPHY OF INDIA, 

UNIT V INDIAN POLITY, UNIT VI INDIAN ECONOMY AND APTITUDE AND MENTAL ABILITY 
 

1. Which of the following cell organelles are absent in Bacteria?  
a. Mitochondria  b. Golgi body   c. Endoplasmic reticulum    
d. All of these   e. Answer not known 
gpd;tUk; nry; Ez;ZWg;GfSs; vit ghf;Bhpahtpy; fhzg;gLtjpy;iy?  
a. ikl;Nlhfhz;l;hpah  b. Nfhy;if clyk;  c. vz;Nlhgpshr tiygpd;dy;  
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
2. The term Social Forestry was first used in 

a. 1970 b. 1973  c. 1975  d. 1976 e. Answer not known 
r%f tdtpay; vd;w nrhy; Kjd;Kjypy; mkYf;F te;j Mz;L 
a. 1970 b. 1973  c. 1975  d. 1976 e. tpil njhpatpy;iy  

 
3. In the stomatal transpiration _________ of the water transpired from leaves 

a. 70-75%  b. 75-80%   c. 80-85%   
d. 90-95%  e. Answer not known 
,iyj;Jis ePuhtpg; Nghf;F %yk; Vwf;Fiwa ________ ePh; ,og;G Vw;gLfpwJ 
a. 70-75%  b. 75-80%   c. 80-85%   
d. 90-95%  e. tpil njhpatpy;iy 

 
4. Match the following 

A. Nitrogen fixation   1. Azotobacter 
B. Ammonification   2. Putrefying bacteria 
C. Nitrification   3. Nitrosomonas 
D. Denitrification   4. Pseudomonas bacteria 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3  e. Answer not known 
nghUj;Jf 
A. iel;u[d; epiyepWj;Jjy; 1. mrl;NlhNgf;lh; 
B. mk;Nkhdpahthjy;  2. mOfitf;Fk; ghf;Bhpah 
C. iel;Nul;lhjy;   3. iel;uNrhNkhdh]; 
D. iel;u[d; ntspNaw;wk;  4. #NlhNkhdh]; ghf;Bhpah 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3  e. tpil njhpatpy;iy 
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5. Match the following 
A. Xylem tissue   1. Absorption of water and Minerals 
B. Phloem tissue   2. Transport of water and minerals 
C. Epidermis    3. Transport of food 
D. Root hairs    4. Protects the inner tissue 
 A B C D 
a.  1 2 3 4 
b. 2 1 4 3 
c. 2 3 4 1 
d. 1 2 4 3 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
A. iryk; jpR   1. ePh; kw;Wk; fdpkq;fis cwpQ;Rjy; 
B. GNshak; jpR   2. ePh; kw;Wk; fdpkq;fis flj;Jjy; 
C. vgpnlh;kp]; (Gwj;Njhy;)  3. czTg; nghUl;fisf; flj;Jjy; 
D. Nth;j;J}tpfs;   4. cl;Gwj; jpRf;fisg; ghJfhj;jy; 
 A B C D 
a.  1 2 3 4 
b. 2 1 4 3 
c. 2 3 4 1 
d. 1 2 4 3 
e. tpil njhpatpy;iy 

 
6. Match the following: 

 List I      List II  
A. Interphase    1. Division of nucleus  
B. Karyokinesis   2. Nucleolus disappear  
C. Prophase     3. Resting phase 
D. Cytokinesis    4. Division of Cytoplasm  
 A B C D 
a. 2 1 4 3 
b.  4 1 2 3  
c. 4 2 1 3  
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf:  
 gFjp I   gFjp II 
A. ,ilepiy   1. cl;fU gFg;G  
B. NfhpNahifdrp];   2. cl;fUkzp kiwfpwJ  
C. GNuh epiy   3. Xa;T epiy  
D. irl;Nlhifdrp];  4. irl;Nlhgpshr gFg;G  

 A B C D 
a. 2 1 4 3 
b.  4 1 2 3  
c. 4 2 1 3  
d. 3 1 2 4 
e. tpil njhpatpy;iy 
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7. Give an example for haemostatics 
1. Whenever the blood glucose level raises insulin hormone is secreted  
2. Whenever the blood glucose level reduces glucagon hormone is secreted 
a. 2 only    b. 1 and 2    c. 1 only    
d. None of these        e. Answer not known 
jd;dpiy fhj;jYf;F (homeostasis) vLj;Jf;fhl;L jUf.  
1. ,uj;jj;jpy; rh;f;fiuapd; msT mjpfhpf;Fk; NghJ ,d;Rypd; `hh;Nkhd; cw;gj;jp 

nra;ag;gLk;  
2. ,uj;jj;jpy; rh;f;fiuapd; msT FiwAk;NghJ FSNfhfhd; `hh;Nkhd; cw;gj;jp 

nra;ag;gLk;  
a. 2 kl;Lk;   b. 1 kw;Wk; 2   c. 1 kl;Lk;   
d. ,it VJTkpy;iy  e. tpil njhpatpy;iy 

 
8. Which of the following is present in human stomach? 

a. HCl    b. Pepsin    c. Renin    
d. All of these  e. Answer not known  
gpd;tUtdtw;Ws; vJ kdpj ,iug;igapDs; fhzg;gLfpwJ? 
a. HCL   b. ngg;rpd;   c. nudpd;   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
9. Consider the following Endocrine glands: 

1. Islets of Langerhans   - Produce Insulin 
2. Thyroid gland   - Produce diabetes 
3. Adrenal gland   - Produce Goitre 
Which of the following is correctly matched? 
a. 1 only  b. 1 and 2 only   c. 2 and 3 only   
d. 1, 2 and 3  e. Answer not known 
fPo;nfhLf;fg;gl;Ls;s ehskpy;yh Rug;gpfspy; vJ rhpahf nghUe;Jk;: 
1. Nyq;fh;fhd; jpl;Lfs;  - ,d;Rypid nfhLf;Fk;  
2. ijuha;L Rug;gp   - rh;f;fiu tpahjpia nfhLf;Fk;  
3. ml;hpdy; Rug;gp   - Kd; fOj;J fyioia nfhLf;Fk;  
a. 1 kl;Lk;   b. 1 kw;Wk; 2 kl;Lk;   c. 2 kw;Wk; 3 kl;Lk;     
d. 1> 2 kw;Wk; 3 e. tpil njhpatpy;iy 

 
10. Match the following: 

A. Corpus luteum   1. Testosterone 
B. Graafian follicle   2. Inhibidin 
C. Sertoli cells   3. Theca interna 
D. Leydig’s cells   4. Corpus albicans 
 A B C D 
a.  2 1 3 4 
b.  4 3 2 1 
c.  1 2 3 4 
d.  3 4 1 2 
e. Answer not known 
nghUj;Jf.  
A. fhh;g]; Yl;bak;     1. nl];Nlh];BNuhd; 
B. fpuh/gpad; /ghypf;fps;     2. ,d;`pgpbd; 
C. nrh;l;Nlhyp nry;fs;    3. jPf;fh ,d;lh;dh 
D. yPbf; nry;fs;     4. fhh;g]; my;gpfd;];  
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 A B C D 
a.  2 1 3 4 
b.  4 3 2 1 
c.  1 2 3 4 
d.  3 4 1 2 
e. tpil njhpatpy;iy 

 
11. The hormones secreted by neurohypophysis are 

a. Vasopressin and Oxytocin 
b. FSH and TSH 
c. Neurohormones and Teratohormones 
d. ACTH and CCTH 
e. Answer not known 
epa+Nuhi`g;Ngh igrprhy; Ruf;fg;gLk; `hh;Nkhd;fs; 
a. thNrhgpurpd; kw;Wk; Mf;]plhrpd; 
b.vg;.v];.vr;. kw;Wk; b.v];.vr;. 
c. epa+Nuh`hh;Nkhd; kw;Wk; nlul;Nlh`hh;Nkhd; 
d. V.rp.b.vr;.  kw;Wk; rp.rp.b.vr;. 
e. tpil njhpatpy;iy 

 
12. A codon is a sequence of 3 nucleotides on 

a. t-RNA  b. m-RNA   c. r-RNA   
d. hn- RNA  e. Answer not known 
Nfhlhd; vd;gJ vjd; njhlhpd; %d;W epa+f;spNahilLfs; MFk;? 
a.b.Mh;.vd;.V  b. vk;.Mh;.vd;.V  c.Mh;.Mh;.vd;.V    
d. vr;.vd;.Mh;.vd;.V e. tpil njhpatpy;iy  

 
13. The principal function of centromere is 

a. Chromosome splitting  b. Formation of spindle fibres 
c. DNA duplication   d. Movement of chromosomes to poles 
e. Answer not known 
nrd;l;Nuhkpahpd; Kjd;ikg; gzpahdJ 
a. FNuhNkhNrhk; gpsTWjy; 
b. fjph;f;Nfhy; ,iofs; cUthf;fk; 
c. b.vd;.V. ,ul;bg;ghjy; 
d. FNuhNkhNrhk;fis JUtq;fSf;F efh;j;Jjy; 
e. tpil njhpatpy;iy 

 
14. The Process of transfer of genetic information from DNA to RNA is 

a. Translocation  b. Transversion   c. Transcription   
d. Translation  e. Answer not known 
kugpd jfty;fis DNA tpypUe;J RNA tpw;F khw;Wk; nray;.  
a. l;uhd;];nyhNf~d; b. l;uhd;];nth;~d;   c. gbnaLj;jy;   
d. nkhopngah;j;jy;  e. tpil njhpatpy;iy  

 
15. Bolometer is used to measure 

a. Coefficient of thermal conductivity b. Electric Resistance 
c. Specific heat capacity   d. heat radiation 
e. Answer not known 
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NghNyh kPl;liug; gad;gLj;jp vjid mstplyhk;? 
a. ntg;gf; flj;Jj; jpwd; Fzfk;  b. kpd;jil 
c. ntg;g Vw;Gj;jpwd;   d. ntg;g fjph;tPr;R 
e. tpil njhpatpy;iy 

 
16. Which of the following pairs does not represent quantities of identical dimensions? 

a. Angular momentum and plank’s constant 
b. Moment of inertia and moment of force  
c. Work and Torque 
d. Impulse and momentum 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;wpy; xj;j ghpkhz tha;g;ghl;ilf; nfhz;buhj ,iz vJ? 
a. Nfhz ce;jk; kw;Wk; gpshq;f; khwpyp 
b. epiyk jpUg;Gj;jpwd; kw;Wk; tpirapd; jpUg;Gj;jpwd; 
c. Ntiy kw;Wk; jpUg;G tpir 
d. fzj;jhf;Ftpir kw;Wk; ce;jk; 
e. tpil njhpatpy;iy 

 
17. Four Resistors of resistance R each are connected in parallel. The effective resistance is 

a. 4R  b. 4/R  c. R/4  d. 2R  e. Answer not known 
R kpd;jilia cila ehd;F kpd;jilahf;fpfs; xt;nthd;Wk; gf;f ,izg;gpy; cs;sd.  
,t;tikg;gpd; njhFgad; kpd;jil  
a. 4R  b. 4/R  c. R/4  d. 2R  e. tpil njhpatpy;iy 

 
18. Sound waves do not show the phenomenon of 

a. refraction  b. interference   c. diffraction   
d. Polarisation e. Answer not known 
xyp miyfshy; fhz;gpf;f ,ayhj epfo;T 
a. tpyfy;   b. FWf;fPLjy;     c. tpspk;G tpisT   
d. js tpisT e. tpil njhpatpy;iy 

 
19. The most stable nucleus is 

a. 
4

2 He   b. 
56

26 Fe    c. 
235

92U    

d. 
196

80 Hg   e. Answer not known 
mjpf epiyj;jd;ik nfhz;l mZf;fU  

a. 
4

2 He   b. 
56

26 Fe    c. 
235

92U    

d. 
196

80 Hg   e. tpil njhpatpy;iy 
 
20. The clouds float in air because 

a. they are at a low temperature  b. they are less viscous 
c. they are less dense   d. a low pressure is developed there 
e. Answer not known 
fhw;wpy; Nkfq;fs; kpjj;jYf;F fhuzk; 
a.Fiwe;j ntg;gepiy     b. Fiwe;j ghFepiy 
c. Fiwe;j mlh;j;jp       d. Fiwe;j mOj;jk; cUthFjy; 
e. tpil njhpatpy;iy 

 

21. In which of the following minerals, Aluminium is not present? 
a. Cryolite   b. Duralumin   c. Feldspar   
d. Fluorspar   e. Answer not known 
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gpd;tUk; fdpkq;fspy; mYkpdpak; ,y;yhjJ vJ? 
a. fphpNahiyl;    b. ba+uhYkpd;   c. ngy;l;];ghh;   

d. GNshh;];ghh;  e. tpil njhpatpy;iy 
 
22. Which one of the following is correctly arranged in their increasing order reactivity? 

a. Mg > Al > Ca > Na b. Na > Ca > Mg > Al   c. Ca > Al > Mg > Na 
d. Na > Ca > Al > Mg e. Answer not known 
fPo; cs;sstw;wpy;> mtw;wpd; nray;jpwd; mbg;gilapy; VWthpirapy; vJ rhp?  
a. Mg > Al > Ca > Na b. Na > Ca > Mg > Al   c. Ca > Al > Mg > Na 
d. Na > Ca > Al > Mg e. tpil njhpatpy;iy 

 
23. According to Modern Atomic Theory which of the following statement is wrong? 

a. Atom is the smallest particle that takes part in a reaction 
b. Atoms are indivisible 
c. Atoms of the same element may not be similar in all their properties 
d. Atoms of different elements may be similar in some of their properties 
e. Answer not known 
etPd mZf; nfhs;ifiag; nghWj;jtiu gpd;tUk; vf;$w;W jtwhdJ? 
a. mZ vd;gJ Ntjptpidapy; <LgLk; kpfr;rpwpa Jfs; 
b. mZf;fs; gpsf;f ,ayhjit 
c. xU jdpkj;jpd; midj;J mZf;fSk; midj;Jg; gz;GfspYk; xj;jpUf;f 

Ntz;bajpy;iy. 
d. ntt;NtW jdpkq;fspd; mZf;fs; rpy gz;Gfspy; xj;jpUf;Fk; 
e. tpil njhpatpy;iy 

 
24. Non-Volatile covalent nitride, AIN undergoes hydrolysis to give  

a. Aluminium      b. Aluminium hydride 
c. Ammonia and aluminium hydroxide   d. Aluminium and ammonia  
e. Answer not known 
vspjpy; Mtpahfhj rfg;gpizg;G iel;iulhd AIN ePuhw;gFg;G mile;J nfhLg;gJ 
a. mYkpdpak;         b. mYkpdpak; i`l;iuL    
c. mk;Nkhdpah kw;Wk; mYkpdpak; i`l;uhf;i]L  d. mYkpdpak; kw;Wk; mk;Nkhdpah 
e. tpil njhpatpy;iy 

 
25. Chemical name of aspirin is 

a. Ethyl Salicylic acid  b. Benzoyl salicylic acid  c. Methyl Salicylate  
d. Acetyl salicylic acid  e. Answer not known 
M];gphpd; kUe;jpd; Ntjpg; ngah;  
a. vj;jpy; rhyp rpypf; mkpyk; b. ngd;rhapy; rhyprpypf; mkpyk;  
c. nkj;jpy; rhyprpNyl;  d. mrpl;ily; rhyprpypf; mkpyk; 
e. tpil njhpatpy;iy 

 
26. Choose the correct statements about Indira Parthasarathy 

I. He was conferred the sahitya Akademi Fellowship 
II. He is a Padma Vibhushan Awardee 
III. He won the Sahitya Akademi Award in 1977 for his novel Kaanthal Naatkal 
IV. He is the only Tamil writer to have received both the Sahitya Akademi Award and 

the Sangeet Natak Akademi Award 
a. I, II    b. III, IV    c. I, IV 
d. All the above  e. Answer not known 
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,e;jpuh ghh;j;jrhujp gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,tUf;F rhfpj;a mfhlkp /ngy;Nyh~pg; toq;fg;gl;Ls;sJ 
II. ,th; gj;k tpg+~d; tpUJ ngw;Ws;shh;. 
III. ,th; 1977Mk; Mz;by; fhe;js; ehl;fs; vd;w ehtYf;fhf rhfpj;a mfhlkp tpUijg; 

ngw;whh; 
IV. rhfpj;a mfhlkp tpUJ kw;Wk; rq;fPj ehlf tpUJ Mfpa ,uz;L tpUJfisAk; 

ngw;w xNu jkpo; vOj;jhsh; ,th;. 
a. I, II    b. III, IV    c. I, IV  
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

27. Choose the correct statements 
I. Gender lab was inaugurated by Chennai Corporation 
II. Gender lab is said to be the first such initiative by an urban local body in the country 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known  
rhpahd $w;Wfisj; Njh;T nra;f 
I. nrd;id khefuhl;rp ghypd Ma;tfj;ij epWtpAs;sJ 
II. ,e;j ghypd Ma;tfk; ,e;jpahtpNyNa xU efh;g;Gw cs;shl;rp mikg;ghy; 

njhlq;fg;gl;l Kjy; Kaw;rpahf fUjg;gLfpwJ 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

28. Choose the correct statements about Adichanallur excavation  
I. It was excavated for the first time by Dr. Jagor in 1863 
II. Recently two punch marked coins of Sangam age were discovered here 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known  
Mjpr;rey;Y}h; mfoha;T gw;wpa rhpahd $w;Wfis Njh;T nra;f 
I. 1863Mk; Mz;L ,e;j ,lk; Kjy; Kiwahf Dr. [Nfhh; vd;gtuhy; mfoha;T 

nra;ag;gl;lJ. 
II. rkPgj;jpy; ,t;tplj;jpy; rq;ffhyj;ijr; Nrh;e;j ,uz;L Kj;jpiuf; fhRfs; 

fz;Lgpbf;fg;gl;Ls;sJ 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

29. Kalaiyarasan Committee was constituted by the Government of Tamilnadu for 
a. Framing State Education Policy 
b. Reservation to government school students in Medical College Admissions 
c. Reviewing the working of educational sector in the state 
d. Reviewing the working of Higher educational institutions in the state 
e. Answer not known 
jkpo;ehL muR fiyaurd; FOit mikj;jjw;fhd Nehf;fk; 
a. khepy fy;tpf; nfhs;if tiutpw;fhf 
b. muRg; gs;sp khzth;fspd; kUj;Jt fy;Y}hpr; Nrh;f;iff;fhd ,l xJf;fPL 
c. khepyj;jpy; fy;tpj; Jiwapd; nray;ghl;bid Muha 
d. khepyj;jpy; cah;fy;tp epWtd nray;ghl;bid Muha;tJ 
e. tpil njhpatpy;iy 
 

30. How many pairs are correctly matched? 
I. Chennai – International Olive ridley turtle protection and Rahabilitation Centre 
II. 18 December – Minority Rights Day observed in Tamil Nadu 
III. 22 March – Local governance day observed in Tamilnadu 
IV. Justice Murugesan Committee – State Education Policy 
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a. One pair   b. Two pairs   c. three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahf nghUe;jpa ,izfs; vj;jid? 
I. nrd;id – rh;tNjr Mypt; hpl;yp Mik ghJfhg;G kw;Wk; kWtho;T ikak;. 
II. 18 brk;gh; - jkpo;ehL rpWghd;ikapdh; chpik jpdk; mDrhpf;fg;gLfpd;wJ. 
III. 22 khh;r; jkpo;ehl;by; cs;shl;rp jpdkhf filgpbf;fg;gLfpd;wJ 
IV. ePjpaurh; KUNfrd; fkpl;b – khepy fy;tpf; nfhs;if 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

31. The gram sabha meetings in Tamilnadu would be held  
a. Four times in a year  b. Five times in a year  c. Six times in a year 
d. Three times in a year  e. Answer not known 
jkpo;ehl;by; fpuhk rigf;$l;lq;fs; ___________ 
a. Mz;bw;F ehd;F Kiw eilngWk;  b. Mz;bw;F Ie;J Kiw eilngWk; 
c. Mz;bw;F MW Kiw eilngWk;  d. Mz;bw;F %d;W Kiw eilngWk; 
e. tpil njhpatpy;iy 
 

32. Which of the following state was awarded by National Centre for Vector Born Disease 
control on recognition of its performance in Malaria elimination and its progress? 
a. Tamil Nadu  b. Andhra Pradesh   c. Telangana 
d. Karnataka   e. Answer not known 
gpd;tUk; khepyq;fspy; kNyhpah xopg;gpy; rpwg;ghd nray;jpwd; kw;Wk; Kd;Ndw;wj;ij 
mq;fPfhpf;Fk; nghUl;L Njrpa guTk; Neha;f; fl;Lg;ghl;L ikaj;jpdhy; rhd;wpjo; ngw;w 
khepyk; vJ? 
a. jkpo;ehL   b. Me;jpugpuNjrk;   c. njYq;fhdh 
d. fh;ehlfk;   e. tpil njhpatpy;iy 
 

33. Choose the correct statements 
I. Tamilnadu Government announced that all government primary school students 

from 1st to 3rd standards will be provided nutritious breakfast on all working days. 
II. Tamilnadu become the first state to provide breakfast along with Midday meals 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known 
rhpahd $w;Wfis Njh;T nra;f 
I. muR njhlf;fg; gs;spfspy; 1 Kjy; 3Mk; tFg;G tiu gapYk; midj;J 

khzth;fSf;Fk; midj;Jg; gs;sp Ntiy ehl;fspYk; rj;jhd fhiyr; rpw;Wz;b 
czT toq;fg;gLk; vd jkpof muR mwptpj;Js;sJ. 

II. kjpa czTj;jpl;lj;Jld; rpw;Wz;b czitAk; toq;Fk; Kjy; khepykhf jkpo;ehL 
cUthf cs;sJ. 

a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

34. Match the following 
Excavation site  State 
A. Pattanam   1. Kerala 
B. Thalakkadu  2. Karnataka 
C. Vengi   3. Andhra Pradesh 
D. Palur   4. Odisha 
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 A B C D 
a.  1 2 3 4 
b.  2 1 3 4 
c. 1 3 2 4 
d. 1 4 3 2 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
mfo;thuha;r;rp jsk;  khepyk; 
A. gl;lzk;   1. Nfush 
B. jyf;fhL   2. fh;ehlfk; 
C. ntq;fp   3. Me;jpu gpuNjrk; 
D. ghY}h;   4. xb~h 
 A B C D 
a.  1 2 3 4 
b.  2 1 3 4 
c. 1 3 2 4 
d. 1 4 3 2 
e. tpil njhpatpy;iy 
  

35. The Kalaignar village Integrated Agriculture Development Program was launched in the 
district of 
a. Krishnagiri   b. Dharmapuri   c. Erode 
d. All the above   e. Answer not known 
fiyQh; fpuhkg;Gw xUq;fpize;j Ntshz; Nkk;ghl;Lj; jpl;lk; njhlq;fg;gl;l gFjp 
a. fpU~;zfphp    b. jh;kGhp    c. <NuhL 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 

36. BANGALORE is represented as 123426789, how RANGE is represented? 
a. 82934   b. 82439   c. 82349 
d. 82943   e. Answer not known 
BANGALORE  vd;gij 123426789 vd;w vOjpdhy;> RANGE vd;gJ vt;thW vOjg;gLk;? 
a. 82934   b. 82439   c. 82349 
d. 82943   e. tpil njhpatpy;iy 

 
37. If the circumference of a conical wooden piece is 484 cm then find its volume when its 

height is 105 cm 
a. 652190 cm3  b. 625190 cm3    c. 612190 cm3   
d. 602195 cm3 e. Answer not known 
484 nr.kP Rw;wsTs;s xU kuf;$k;gpd; cauk; 105 nr.kP vdpy;> $k;gpd; fd msitf; 
fhz;f. 
a. 652190 nrkP3 b. 625190 nrkP3  c. 612190 nrkP3 

d. 602195 nrkP3 e. tpil njhpatpy;iy 
 
38. A truck requires 108 liters of diesel for covering a distance of 594 km. How much diesel will 

be required to cover a distance of 1650 km?  
a. 350 litre  b. 200 litre   c. 300 litre   
d. 250 litre   e. Answer not known 
xU ruf;F tz;b 594 fp.kP J}uj;ijf; flf;f 108 yp Bry; Njitg;gLfpwJ vdpy;> mt;tz;b 
1650 fp.kP J}uj;ijf; flf;fj; Njitg;gLk; Brypd; msT vt;tsT?  
a. 350 ypl;lu;  b. 200 ypl;lu;   c. 300 ypl;lu;  
d. 250 ypl;lu;  e. tpil njhpatpy;iy 
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39. How many ways can you answer five TRUE or FALSE questions? 
a. 10  b. 5  c. 25  d. 32  e. Answer not known 
rhpah? jtwh? $Wf vd 5 Nfs;tpfs; ,Uf;fpd;wd. ,e;j 5 Nfs;tpfSf;Fk; nkhj;jkhf 
vj;jid tpjkhd gjpy;fs; juKbAk;? 
a. 10  b. 5  c. 25  d. 32  e. tpil njhpatpy;iy 

 
40. The inner curved surface area of a hemispherical dome of a building needs to be painted. If 

the circumference of the base is 17.6 m, find the cost of painting it at the rate of Rs. 5 per sq. 
m. 
a. Rs. 246.40   b. Rs. 244. 60    c. Rs. 24.64   
d. Rs. 26.40   e. Answer not known 
miuf;Nfhs tbt Nkw;$iuapd; cl;Gw tisgug;gpw;F th;zk; G+r Ntz;bAs;sJ. mjd; 
cl;Gw mbr;Rw;wsT 17.6 kP vdpy;> xU rJu kPl;lUf;F &.5 tPjk;> th;zk; G+r MFk; nkhj;j 
nryitf; fhz;f. 
a. &. 246.40   b. &. 244.60   c. &. 24.64 

   d. &. 26.40   e. tpil njhpatpy;iy 
 

41. Which of the following article of the Indian Constitution empowers the Supreme Court to 
exercise its special powers in any case pending before it to do “complete justice”? 
a. Article 141   b. Article 142    c. Article 143 
d. Article 32   e. Answer not known 
,e;jpa murpayikg;gpd; ve;j tpjp cr;rePjpkd;wj;jpw;F KOikahd ePjpia toq;Ftjw;F 
Ntz;b epYitapYs;s ve;jnthU tof;fpYk; mjd; rpwg;G mjpfhuq;fisg; 
gad;gLj;Jtjw;F mjpfhuk; toq;fpAs;sJ? 
a. rl;lf;$W 141  b. rl;lf;$W 142   c. rl;lf;$W 143 
d. rl;lf;$W 32  e. tpil njhpatpy;iy 
 

42. Choose the correct statements about S2G Buy Day 
I. It was launched by TIDCO 
II. It links the startups and the government 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
S2G nfhs;Kjy; ehs; gw;wpa rhpahd $w;Wfis Njh;T nra;f 
I. ,J TIDCO mikg;gpdhy; njhlq;fg;gl;lJ 
II. ,J njhopy; njhlf;f epWtdq;fisAk; murhq;fj;ijAk; ,izf;Fk; jpl;lkhFk;. 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

43. Choose the incorrect statements about Chess Olympiad 2022 
I. It was held at Mamallapuram 
II. This is Chennai’s third big international Chess event 
III. It is 44th Chess Olympiad 
a. I only   b. II only    c. III only 
d. None of these  e. Answer not known 
nr]; xypk;gpahl; 2022 gw;wpa jtwhd $w;wpidj; Njh;f 
I. ,g;Nghl;b khky;yGuj;jpy; eilngw;wJ 
II. ,J nrd;idapd; %d;whtJ nghpa rh;tNjr nr]; Nghl;bahFk;. 
III. ,J 44tJ nr]; xypk;gpahl; Nghl;bahFk;. 
a. I kl;Lk;   b. II kl;Lk;    c. III kl;Lk; 
d. VJkpy;iy   e. tpil njhpatpy;iy 
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44. Choose the correct statements about HomoSEP 
I. It is a robot developed by Anna University 
II. It is supported by the NGO, Safai Karamchari Andolan dedicated to the elimination 

of manual scavenging in India 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
N`hNkhnrg; gw;wpa rhpahd $w;Wfisj; Njh;f 
I. ,J mz;zh gy;fiyf;fofj;jhy; cUthf;fg;gl;l NuhNghthFk;. 
II. r/gha; fuk;rhhp me;Njhyd; vd;w kdpjdhy; fopTfs; mfw;wg;gLtij xopg;gjw;fhf 

mh;g;gzpf;fg;gl;l jd;dhh;t njhz;L epWtdj;jhy; MjuT toq;fg;gLfpwJ 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

45. Tamilnadu Chief Minister launched a Ennum Ezhuthum Scheme in 
a. Kanniyakumari  b. Kancheepuram   c. Tiruvallur 
d. Chennai   e. Answer not known  
jkpo;ehL Kjyikr;rh; vz;Zk; vOj;Jk; jpl;lj;ijj; njhlq;fp itj;j ,lk; 
a. fd;dpahFkhp  b. fhQ;rpGuk;    c. jpUts;@h; 
d. nrd;id   e. tpil njhpatpy;iy 
 

46. Choose the correct statements about Ennum Ezhuthum Mission 
I. It aims to bridge the learning gap 
II. It will be implemented in government and government aided schools 
III. It covers students from class 1 to 3 
a. I, II    b. I, III    c. II, III 
d. All of these  e. Answer not known 
vz;Zk; vOj;Jk; jpl;lk; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,j;jpl;lk; fw;wy; ,ilntspiaf; Fiwg;gij Nehf;fkhff; nfhz;lJ 
II. ,j;jpl;lk; muR kw;Wk; muR cjtp ngWk; gs;spfspy; nray;gLj;jg;gLk;. 
III. ,j;jpl;lk; 1 Kjy; 3 Mk; tFg;G tiuAs;s khzth;fis cs;slf;fpaJ 
a. I, II    b. I, III    c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

47. The 11th World Tamil Research Conference will be held in 
a. Kuala Lumpur  b. Sharjah   c. Mauritius 
d. Singapore   e. Answer not known 
11tJ cyfj;jkpohuha;r;rp khehL eilngwTs;s ,lk; 
a. Nfhyhyk;g+h;  b. ~hh;[h   c. nkhhp~pa]; 
d. rpq;fg;g+h;   e. tpil njhpatpy;iy 
 

48. Which of the following novel was written by Chinnappa Bharathi? 
a. Dhaagam   b. Surangam    c. Palai Nila Roja 
d. All the above  e. Answer not known 
gpd;tUk; Gjpdq;fspy; vOj;jhsh; rpd;dg;g ghujpahy; vOjg;gl;lJ vJ? 
a. jhfk;   b. Ruq;fk;    c. ghiy epyh Nuh[h 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

49. How many pairs are correctly matched? 
I. Chinnappa Bharathi – Writer of the Novel Thalaimurai Mattram 
II. Liquor bottle buyback scheme – Nilgiris 
III. Bharat Gaurav Express train – Chennai to Mumbai 
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a. One pair   b. Two pairs   c. Three pairs 
d. None of these  e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. rpd;dg;g ghujp – jiyKiw khw;wk; vd;w Gjpdj;jpd; Mrphpah; 
II. kJf;FLitfisj; jpUk;g thq;Fk; jpl;lk; - ePyfphp 
III. ghuj; nfsut; tpiuT uapy; - nrd;id Kjy; Kk;ig tiu 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

50. Who is the first to utilize the services of the High Court’s first woman mace bearer? 
a. R.N. Manjula  b. Priya Rajan  c. Nagammal 
d. Dahil Ramani  e. Answer not known 
cah;ePjpkd;wj;jpd; Kjy; ngz; jNgjhh; Nritia Kjypy; gad;gLj;jpath; ahh;? 
a. R.N. kQ;Rsh  b. gphpah uh[d;  c. ehfk;khs; 
d. j`py; ukzp  e. tpil njhpatpy;iy 
 

51. Choose the correct statements 
I. Tamilnadu emerged as the largest state in terms of the outstanding portfolio of 

microfinance loans 
II. Thozhilanangu is an initiative of TANSIM 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known 
rhpahd $w;Wfisj; Njh;T nra;f 
I. rpWepjp fld;fspd; kPjhd Jiwrhh; KjyPl;Lg; gphptpy; nghpa khepykhf jkpo;ehL 

cUntLj;Js;sJ 
II. njhopyzq;F vd;gJ TANSIM mikg;ghy; njhlq;fg;gl;l jpl;lkhFk;. 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

52. Consider the following statements about Nalaya Thiran Scheme 
I. It was launched under Naan Mudhalvan Programme 
II. Under this programme 5000 college students will train with the knowledge in 

computer science, electronics and IT domains 
a. I only correct  b. II only correct  c. Both are correct 
d. Both are incorrect  e. Answer not known 
ehisa jpwd; jpl;lk; gw;wpa $w;Wfis Muha;f 
I. ,j;jpl;lk; ehd; Kjy;td; vd;w jpl;lj;jpd; fPo; njhlq;fg;gl;lJ 
II. ,j;jpl;lj;jpd; fPo; 5000 fy;Y}hp khzth;fs; fzpdp mwptpay;> kpd;dZtpay; kw;Wk; 

jfty; njhopy;El;gj; Jiwfspy; mwpTrhh; gapw;rpapidg; ngw cs;sdh; 
a. I kl;Lk; rhp  b. II kl;Lk; rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 

53. How many pairs are correctly matched? 
I. Chevaliar Award 2022 – Kannan Sundaram 
II. President’s colors Award 2022 – Tamil Nadu Police 
III. 5th Elephant reserve – Dharmapuri 
a. One pair   b. Two pairs   c. Three pairs 
d. None of these   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. nrthypah; tpUJ 2022 – fz;zd; Re;juk; 
II. FbauRj; jiythpd; tz;zk; tpUJ 2022 – jkpo;ehL fhty; Jiw 
III. 5tJ ahidfs; fhg;gfk; - jh;kGhp 
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a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

54. Tamilnadu centre of Excellence in Advanced Manufacturing (TANCAM) was inaugurated 
at 
a. Coimbatore  b. Kancheepuram  c. Chennai 
d. Thiruvallur  e. Answer not known  
jkpo;ehL Nkk;gl;l cw;gj;jp ikak; (TANCAM) njhlq;fg;gl;l ,lk;;;; 
a. Nfhak;gj;J}h;  b. fhQ;rpGuk;   c. nrd;id 
d. jpUts;@h;   e. tpil njhpatpy;iy 
 

55. Which of the following states ranked first in the implementation of Business Reforms 
Action Plan 2020? 
a. Tamilnadu   b. Andhra Pradesh   c. Gujarat 
d. Maharashtra  e. Answer not known 
gpd;tUk; khepyq;fspy; 2020Mk; Mz;bd; tzpfr; rPh;jpUj;jr; nray; jpl;l mkyhf;fj;jpd; 
mbg;gilapy; Kjy; ,lk;gpbj;j khepyk; vJ? 
a. jkpo;ehL   b. Me;jpugpuNjrk;   c. F[uhj; 
d. kfhuh~;buk;  e. tpil njhpatpy;iy 
 

56. Agnikul cosmos has inaugurated India’s first ever factory to manufacture 3D – Printed 
rocket engines in 
a. Chennai  b. Mahendragiri   c. Kulasekarapattinam 
d. Oragadam  e. Answer not known 
mf;dpFy; fh];Nkh]; vd;w epWtdkhdJ> Kg;ghpkhz Kiwapy; mr;rplg;gl;l VTfy 
,ae;jpuq;fis cw;gj;jp nra;tjw;fhd Kjy; njhopw;rhiyiaj; Jtq;fpAs;s ,lk; 
a. nrd;id  b. kNfe;jpufphp   c. FyNrfug;gl;bdk; 
d. xuflk;  e. tpil njhpatpy;iy 
 

57. Which of the following has been ranked the best higher education institution in the country 
in the overall category? 
a. Anna University   b. IIT Madras  c. IIT Mumbai 
d. IIT Kanpur   e. Answer not known 
gpd;tUtdtw;Ws; xl;Lnkhj;jg; gphptpy; ehl;bd; rpwe;j cah;fy;tp epWtdkhfj; juthpirg; 
gLj;jg;gl;Ls;sJ vJ? 
a. mz;zh gy;fiyf;fofk; b. IIT nkl;uh];  c. IIT Kk;ig 
d. IIT fhd;g+h;    e. tpil njhpatpy;iy 
 

58. Choose the correct statements 
I. Tamilnadu tops the list of states so far as utilization of funds under the Smart City 

Mission 
II. The Central Government launched the smart cities mission on 25 December 2015 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
rhpahd $w;Wfisj; Njh;T nra;f 
I. nghypTW efuq;fs; jpl;lj;jpd; fPo; toq;fg;gl;l epjpapd; gad;ghLfspd; mbg;gilapy; 

juthpirg;gLj;jg;gl;l khepyq;fspd; gl;baypy; jkpo;ehL Kjyplk; ngw;Ws;sJ. 
II. nghypTW efuq;fs; jpl;lk; kj;jpa murpdhy; brk;gh; 25> 2015 ,y; njhlq;fg;gl;lJ 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 
 



 

14 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

59. The project Suria was related to 
a. Semiconductor Park  b. MSME   c. Solar Energy Production  
d. Water management  e. Answer not known 
#hpah jpl;lk; vjDld; njhlh;GilaJ? 
a. Fiwflj;jp cw;gj;jpg; g+q;fh b. MSME   c. #hpa kpd;rf;jp cw;gj;jp  
d. ePh; Nkyhz;ik   e. tpil njhpatpy;iy 
 

60. The Urban Animal Rescue Centre Setup in 
a. Guindy National Park  b. Anna Zoological Park c. Mukurthi National Park  
d. Mudumalai   e. Answer not known 
efh;g;Gw tpyq;F kPl;G ikak; njhlq;fg;gl;Ls;s ,lk; 
a. fpz;b Njrpag;g+q;fh  b. mz;zh tpyq;fpay; g+q;fh 
c. Kf;FUj;jp Njrpag;g+q;fh  d. KJkiy 
e. tpil njhpatpy;iy 
 

61. The chess Olympiad for 2024 will be held in  
a. Russia  b. Saudi Arabia   c. Hungary 
d. London  e. Answer not known  
2024Mk; Mz;Lf;fhd nr]; xypk;gpahl; eilngwTs;s ,lk;  
a. ,u~;ah  b. nrsjp mNugpah   d. `q;Nfhp 
d. yz;ld;  e. tpil njhpatpy;iy 
 

62. Which of the following site has been chosen as the site to construct the Chennai’s second 
airport? 
a. Paalur   b. Parandur   d. Tiruporur 
d. Padalam   e. Answer not known 
gpd;tUk; gFjpfspy; nrd;idapd; ,uz;lhtJ tpkhdepiyak; fl;likg;gjw;fhf Njh;thd 
gFjp vJ? 
a. ghY}h;   b. gue;J}h;   c. jpUg;Ngh&h; 
d. glhsk;   e. tpil njhpatpy;iy 
 

63. Choose the correct statements 
I. The Grand closing ceremony of the 44th chess Olympiad held at the Jawaharlal 

Indoor stadium, Chennai  
II. A total of 17 Indians has won medals in the 44th chess Olympiad. 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known  
rhpahd $w;Wfisj; Njh;T nra;f 
I. 44tJ rJuq;f xypk;gpahl; Nghl;bapd; gpukhz;l epiwT tpohthdJ nrd;id 

[t`h;yhy; NeU cs;tpisahl;L muq;fpy; eilngw;wJ 
II. 44tJ rJuq;f xypk;gpahl;; Nghl;bapy; nkhj;jk; 17 ,e;jpah;fs; gjf;fk; ntd;Ws;sdh; 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

64. Choose the correctly matched pairs 
I. Dandeli Elephant Reserve – Karnataka 
II. Singphan elephant Reserve – Nagaland 
III. Lemru Elephant Reserve – Chattisgarh 
a. I, II    b. I, III    c. II, III  
d. All of these  e. Answer not known 
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rhpahfg; nghUe;jpa ,izfis Njh;T nra;f 
I. jhe;Njyp ahidfs; fhg;gfk; - fh;ehlfk; 
II. rpq;gd; ahidfs; fhg;gfk; - ehfhyhe;J 
III. nyk;U ahidfs; fhg;gfk; - rj;jP];fh; 
a. I, II    b. I, III    c. II, III 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

65. Which of the following state has the maximum number of Ramsar wetlands in the country? 
a. Uttar Pradesh  b. Odisha    c. Gujarat 
d. Tamilnadu  e. Answer not known 
gpd;tUk; khepyq;fspy; ehl;bNyNa mjpfgl;r uhk;rhh; <uepyq;fs; mike;Js;s khepyk;; vJ? 
a. cj;jug; gpuNjrk;  b. xb~h    c. F[uhj; 
d. jkpo;ehL   e. tpil njhpatpy;iy 
 

66. How many pairs are correctly matched? 
I. Chitrangudi   - Ramanathapuram 
II. Kanjirankulam  - Ramanathapuram 
III. Vaduvur   - Thiruvarur 
IV. Suchindram Theroor - Kanyakumari 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. rpj;jpuq;Fb   - ,uhkehjGuk; 
II. fQ;rpuq;Fsk;   - ,uhkehjGuk; 
III. tLt+h;    - jpUth&h; 
IV. RrPe;jpuk; Nj&h;  - fd;dpahFkhp 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

67. Tamilnadu Salt Corporation was established in  
a. 1970  b. 1971    c. 1972 
d. 1974  e. Answer not known 
jkpo;ehL cg;G cw;gj;jpf;fofk; epWtg;gl;l Mz;L 
a. 1970  b. 1971    c. 1972 
d. 1974  e. tpil njhpatpy;iy 
 

68. Which is the first state in the country for having the greatest number of post-partum 
intrauterine contraceptive device insertions? 
a. Andhra Pradesh  b. Karnataka   c. Tamilnadu 
d. Maharashtra  e. Answer not known 
kfg;Ngw;wpw;Fg; gpe;ija fUg;ig fUj;jilr; rhjdg; gad;ghl;bid mjpfk; gad;gLj;jpajpy; 
,e;jpahtpNyNa Kjyplk; tfpf;Fk; khepyk; vJ? 
a. Me;jpug;gpuNjrk;  b. fh;ehlfk;   c. jkpo;ehL 
d. kfhuh~;buk;  e. tpil njhpatpy;iy 
 

69. Madras city was founded on 
a. 20 August 1687  b. 20 August 1639   c. 22 August 1639   
d. 22 August 1640  e. Answer not known 
nkl;uh]; efuk; epWtg;gl;l jpdk; 
a. 20 Mf];l; 1687  b. 20 Mf];l; 1639   c. 22 Mf];l; 1639   
d. 22 Mf];l; 1640  e. tpil njhpatpy;iy 
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70. The 1st Madras Day, celebrations began in the year 
a. 2002 b. 2003 c. 2004  d. 2005 e. Answer not known 
Kjy; nkl;uh]; jpdk; nfhz;lhlg;gl;l Mz;L 
a. 2002 b. 2003 c. 2004  d. 2005 e. tpil njhpatpy;iy 
 

71. How many pairs are correctly matched? 
I. FaMe TN – MSME Trade and Investment Promotion Bureau 
II. Coimbatore – Tamil Nadu coir Business Development Corporation 
III. Veeracholapuram – Kallakurichi 
a. One pair   b. Two pairs   c. Three pairs 
d. None of these  e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. FaMe TN – FW> rpW kw;Wk; eLj;ju epWtd th;j;jf kw;Wk; Cf;Ftpg;G thhpak; 
II. Nfhak;Gj;J}h; - jkpo;ehL njd;id ehh; tzpf Nkk;ghl;Lf;fofk; 
III. tPuNrhoGuk; - fs;sf;Fwpr;rp 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

72. How many pairs are correctly matched? 
I. Bal Sahitya Puraskar    – 24 languages 
II. Yuva Sahitya Puraskar    – 22 languages 
III. Mallikavin Veedu     - G. Meenakshi 
IV. Thanithirukkum Aralikalin Mathiyam  – Paa. Kalimuthu 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. ghy; rhfpj;a Gu];fhh;   - 24 nkhopfs; 
II. At rhfpj;a Gu];fhh;   - 22 nkhopfs; 
III. ky;ypfhtpd; tPL    - G. kPdhl;rp 
IV. jdpj;jpUf;Fk; muspfspd; kjpak;  - gh. fhspKj;J 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

73. Choose the correct statements about Pudhumaipen Scheme 
I. Higher Education Assistance Scheme 
II. Beneficiaries: Girls Students from Class V to Class XII 
III. Monthly assistance of ₹1000 will be given to the beneficiaries 
a. I, II    b. I, III    c. II, III 
d. All of these  e. Answer not known 
GJikg;ngz; jpl;lk; Fwpj;j rhpahd $w;Wfis Njh;f 
I. Nky;epiyf;fy;tp cjtpj;jpl;lk; 
II. gadhspfs;: Ie;jhk; tFg;G Kjy; gd;dpnuz;lhk; tFg;G tiuapyhd khztpfs; 
III. gadhspfSf;F khje;NjhWk; &.1000 cjtpj;njhif toq;fg;gLk;. 
a. I, II    b. I, III    c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

74. Thagaisal Palligal Scheme is based on the  
a. Kerala Model School Scheme  b. National Model School Scheme 
c. Delhi Model School Scheme  d. Singapore Model School Scheme 
e. Answer not known 
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jifrhy; gs;spfs; jpl;lj;jpd; mbg;gilahtd: 
a. Nfus khjphp gs;sp jpl;lk;  b. Njrpa khjphp gs;sp jpl;lk; 
c. nly;yp khjphp gs;sp jpl;lk;  d. rpq;fg;g+h; khjphp gs;sp jpl;lk; 
e. tpil njhpatpy;iy 
 

75. Choose the correct statements about Nanjarayan Tank 
I. This will be the 16th bird sanctuary in Tamil Nadu 
II. It was built by King Nanjarayan as a source for irrigation 
III. It is also known as Sarkar Periyapalayam Reservoir 
a. I, II    b. II, III    c. II only 
d. All of these   e. Answer not known 
eQ;ruhad; Fsk; Fwpj;j rhpahd $w;Wfis Njh;f 
I. ,J jkpo;ehl;bd; 16tJ gwitfs; ruzhyakhf mikaTs;sJ 
II. ,J eQ;ruhad; kd;duhy; ePh;g;ghrdj;jpw;fhf fl;lg;gl;lJ 
III. ,J rh;f;fhh; nghpaghisak; ePh;j;Njf;fk;; vd;Wk; miof;fg;gLfpwJ 
a. I, II    b. II, III    c. II kl;Lk; 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

76. If 81 students can do a painting on a wall of length 448 m in 56 days. How many students 
can do the painting on a similar type of wall of length 160 m in 27 days? 
a. 60  b. 80  c. 120  d. 180  d. Answer not known  
81 khztu;fs; 448 kP ePsKs;s xU Rtupy; Xu; Xtpaj;ij 56 ehs;fspy;  tz;zkpLtu;. 
mJ Nghd;w 160 kP ePsKs;s Rtupy; 27 ehl;fspy; Xtpakpl vj;jid khztu;fs; Njit? 
a. 60  b. 80  c. 120  d. 180   e. tpil njhpatpy;iy 

 
77. Find the value of x. 

 

4 3 2 

6 9 10 

9 27 x 

a. 30    b. 20    c. 50 
d. 54    e. Answer not known 
X-d; kjpg;ig fhz;f. 

 

4 3 2 

6 9 10 

9 27 X 

a. 30    b. 20    c. 50 
d. 54    e. tpil njhpatpy;iy 

 
78. The area of a trapezium is 828 sq. cm. If the lengths of its parallel sides are 19.6 cm and 16.4 

cm, find the distance between them 
a. 28 cm   b. 36 cm   c. 46 cm    
d. 63 cm   e. Answer not known 
gug;gsT 828 r.nr.kP ck;> ,izg;gf;f msTfs; 19.6 nr.kP> 16.4 nr.kP ck; nfhz;l 
ruptfj;jpd; cauj;ij fhz;f. 
a. 28 nr.kP   b. 36 nr.kP   c. 46 nr.kP   
d. 63 nr.kP   e. tpil njhpatpy;iy 
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79. A can finish a job in 20 days and B can complete it in 30 days. They work together and 
finish the job. If Rs. 600 is paid as wages, find the share of each. 
a. A=Rs. 360, B= Rs. 240   b. A=Rs. 480, B= Rs. 120  
c. A=Rs. 400, B= Rs. 200   d. A=Rs. 240, B= Rs. 360 
e. Answer not known 
A xU Ntiyia 20 ehl;fspYk;> B mNj Ntiyia 30 ehl;fspYk; Kbg;gu;. ,UtUk; 
Nrh;e;J Ntiy nra;J> mt;Ntiyia Kbj;J &. 600I jq;fs; tUthahfg; ngw;wdu; vdpy; 
mtu;fs; xt;nthUtUk; ngWk; njhif vt;tsT? 
a. A=&. 360, B= &.. 240   b. A=&. 480, B= &.120  
c. A=&. 400, B= &. 200   d. A=&. 240, B= &. 360 
e. tpil njhpatpy;iy 

 

80. The diagonal of a rectangle is 41  cm and its area is 20 Sq cm. What is the perimeter of the 
rectangle? 
a. 9 cm   b. 18 cm   c. 20 cm 
d. 41 cm   e. Answer not known 

xU nrt;tfj;jpd; %iytpl;lk; 41  nr.kP kw;Wk; mjd; gug;G 20 r.nr.kP vdpy; nrt;tfj;jpd; 
Rw;wsT vd;d?  
a. 9 nr.kP   b. 18 nr.kP   c. 20 nr.kP  
d. 41 nr.kP    e. tpil njhpatpy;iy  
 

81. How many pairs are correctly matched regarding recently added tribal community 
included scheduled tribes list? 
Tribal Community   State 
I. Hatti    Himachal Pradesh 
II. Narikkuravan  Tamil Nadu 
III. Gond    Andhrapradesh 
IV. Betta Kuruba   Karnataka 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
gl;baypd goq;Fbapdh; gl;baypy; rkPgj;jpy; Nrh;f;fg;gl;l goq;Fb r%fk; Fwpj;J vj;jid 
,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
goq;Fbapd r%fk;   khepyk; 
I. `l;b    ,khr;ryg;gpuNjrk; 
II. ehpf;Fwtd;   jkpo;ehL 
III. Nfhz;L   Me;jpug;gpuNjrk; 
IV. ngl;lh FUgh   fh;ehlfk; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

82. Which of the following committee related to scheduled tribes? 
a. Xaxa committee  b. Bhuria committee  c. Lokur committee 
d. All the above  e. Answer not known 
gpd;tUtdtw;Ws; vJ gl;baypd goq;Fbapdh; njhlh;ghd FO? 
a. ]h]h FO  b. g+hpah FO   c. Nyhf;Fh; FO 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

83. India’s first Dugong Conservation Reserve has been notified in 
a. Tamil Nadu  b. Gujarat   c. Andhra Pradesh 
d. Kerala   e. Answer not known 
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,e;jpahtpd; Kjy; fly;gR ghJfhf;fg;gl;l fhg;gfk; mikaTs;s ,lk;  
a. jkpo;ehL   b. F[uhj;   c. Me;jpugpuNjrk; 

d. Nfush   e. tpil njhpatpy;iy 
 

84. Choose the correct statements about Thamirabarani river 
I. It originates from Pothigai Hills 
II. It is the only Perennial River in Tamilnadu 
III. This river flows through Madurai, Tirunelveli and Thoothukudi districts. 
a. I, II    b. I, III    c. II, III 
d. All of these  e. Answer not known 
jhkpuguzp MW Fwpj;j rhpahd $w;Wfis Njh;f 
I. ,jd; gpwg;gplk; nghjpif kiyahFk; 
II. ,J jkpo;ehl;bd; xNu tw;whj MwhFk; 
III. ,e;j MW kJiu> jpUney;Ntyp kw;Wk; J}j;Jf;Fb khtl;lq;fspy; gha;fpwJ 
a. I, II    b. I, III     c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

85. Which of the following zoologic park in Tamilnadu has been ranked best in the country 
among large zoos? 
a. Arignar Anna Zoological Park  b. Trichy Zoo 
c. Kurumbapatti Zoological Park  d. Amirdhi Zoo 
e. Answer not known 
nghpa caphpay; g+q;fhf;fspy; jkpo;ehl;by; cs;s gpd;tUk; ve;j caphpay; g+q;fh 
ehl;bNyNa rpwe;j ,lj;ijg; ngw;Ws;sJ? 
a. mwpQh; mz;zh caphpay; g+q;fh b. jpUr;rp caphpay; g+q;fh 
c. FUk;ggl;b caphpay; g+q;fh  d. mkph;jp caphpay; g+q;fh 
e. tpil njhpatpy;iy 

 
86. The sudden streaks of light seen on a starry night called as 

a. Comet   b. Asteroids   c. Meteoroids  
d. Dwarf planets  e. Answer not known 
tpz;kPd;fs; epiwe;j ,uT thdpy; jpBnud Vw;gLk; xspf;fw;iw vt;thW miof;fg;gLfpwJ? 
a. thy; el;rj;jpuk;     b. FWq;Nfhs;fs;   c. vhpel;rj;jpuk;     
d. Fs;sf;Nfhs;fs;  e. tpil njhpatpy;iy 

  
87. Match the planets with their escape velocities. 

A. Earth   1. 60 km/s 
B. Mercury   2. 11.2 km/s 
C. Jupiter   3. 2.5 km/s 
D. Moon   4. 4 km/s 
 A B C D 
a. 1 3 2 4 
b. 2 4 1 3 
c. 4 2 3 1 
d. 3 1 4 2 
e. Answer not known 
Nfhs;fis mtw;wpd; tpLgL Ntfj;Jld; xg;gpLf. 
A. Gtp    1. 60 km/s 
B. Gjd;   2. 11.2 km/s 
C. tpahod;   3. 2.5 km/s 
D. epyT   4. 4 km/s 
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 A B C D 
a. 1 3 2 4 
b. 2 4 1 3 
c. 4 2 3 1 
d. 3 1 4 2 
e. tpil njhpatpy;iy 

 
88. Inversion of Temperature occurs during 

a. Short nights    b. Long summer night and chill night 
c. Long winter night and clear sky d. Cloudy sky 
e. Answer not known 
ntg;gk; jiyfPohf khWtjw;F Njitg;gLk; #o;epiyfs;  
a. Fiwe;j ,uT     
b. ePz;l Nfhil fhyk; kw;Wk; Fsph; fhw;W  
c. ePz;l Fsph; fhyk; kw;Wk; njspthd thdk;  
d. Nkfk; %ba thdk;  
e. tpil njhpatpy;iy 

 
89. The winds that blow from a particular direction throughout the year are known as the 

__________ 
a. Planetary winds  b. Monsoon winds   c. trade winds  
d. polar winds  e. Answer not known 
Mz;L KOtJk; xU Fwpg;gpl;l jpiria Nehf;fp tPRk; fhw;Wfis vt;thW 
miof;fpd;Nwhk;. 
a. Nfhs; fhw;Wfs;   b. gUtf; fhw;Wfs;    c. tpahghuf; fhw;Wfs;  
d. JUtf;fhw;Wfs;   e. tpil njhpatpy;iy 

 
90. The highest annual range of temperature observed in  

a. Equatorial region    b. Tropical region    c. Sub-polar region  
d.  Polar region   e. Answer not known 
Mz;L ntg;g tpahg;jp mjpfk; fhzg;gLk; gpuNjrk; 
a. G+kj;jpa Nuif gpuNjrk;  b. ntg;g kz;ly gpuNjrk;  c. cg-JUt gpuNjrk; 
d. JUt gpuNjrk;   e. tpil njhpatpy;iy  

 
91. Choose incorrect pair based on the geological time scale  

a. Cambrian    -  China 
b. Carboniferous   - Dominance of Carbon  
c. Eocene   -  Daybreak  
d. Holocene    -  Complete  
e. Answer not known 
Gtpfhy ml;ltizg;gb jtwhz ,iziaf; fhz;f 
a. Nfk;ghpad;   - rPdh 
b. fhh;Nghdpngu];  - mjpf msT fhh;gd; gbkk;  
c. <Nahrpd;   - itfiw 
d. `NyhrPd;   - KOikailjy; 
e. tpil njhpatpy;iy 

 
92. The region where the Amazon and Congo rivers traverse is 

a. Equatorial region  b. Temperate region   c. Polar region   
d. Subtropical region e. Answer not known 
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mNkrhd; kw;Wk; fhq;Nfh MWfs; gha;fpd;w kz;lyk; vJ? 
a. Gtpapilf;Nfhl;L kz;lyk;    b. kpjntg;g kz;lyk;    c. JUt kz;lyk;   

d. Jiz ntg;g kz;lyk;   e. tpil njhpatpy;iy 
 
93. Match the following rivers with its famous towns: 

Rivers      Towns 
A. The Ganga  1. Surat 
B. The Brahmaputra  2. Agra 
C. The Yamuna  3. Guwahati 
D. The Tapti   4. Benares 
 A B C D 
a. 2 1 4 3 
b. 3 4 1 2 
c. 3 4 2 1 
d. 4 3 2 1 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s ejpfis> mjd; Gfo; tha;e;j efuq;fNshL njhlh;GgLj;Jf 
ejpfs;    efuq;fs; 
A. fq;fh   1. #uj; 
B. gpuk;kGj;jpuh  2. Mf;uh  
C. aKdh   3. nfs`hj;jp 
D. jg;jp   4. gdhu]; 
 A B C D 
a. 2 1 4 3 
b. 3 4 1 2 
c. 3 4 2 1 
d. 4 3 2 1 
e. tpil njhpatpy;iy 

 
94. Jhelum River Originates in the State of  

a. Himachal Pradesh b. Jammu and Kashmir   c. Punjab   
d. Uttar Pradesh  e. Answer not known 
[Pyk; ejp cw;gj;jpahFk; khepyk; 
a.,khr;ry gpuNjrk;  b. [k;K kw;Wk; fh~;kPh;   c. gQ;rhg;    
d. cj;jugpuNjrk;  e. tpil njhpatpy;iy 

 
95. Choose the correct statements regarding Taiga Forest 

I. These are the largest biome located between 500 and 600 north latitudes. 
II. More than 1700 species of trees are found in the forest. 
III. Trees shed their leaves during summer. 
a. I only correct  b. I and II are correct   c. I and III are correct 
d. I, II and III are correct e. Answer not known 
nla;fh fhLfs; Fwpj;j rhpahd $w;Wfis Njh;f. 
I. 50° Kjy; 60° tl ml;rf; NfhLfSf;F mike;Js;s ,e;jf; fhLfNs kpfg; nghpa 

caphpdk; #o;thoplq;fs; MFk;. 
II. ,f;fhLfspy; Vwf;Fiwa 1700 tifahd kutiffs; fhzg;gLfpd;wd. 
III. ,k;kuq;fs; Nfhilfhyj;jpy; ,iyfis cjph;j;JtpLfpd;wd.  
a. I kl;Lk; rhp    b. I kw;Wk; II k; rhp     c. I kw;Wk; IIIk; rhp    
d. I, II kw;Wk; IIIk; rhp e. tpil njhpatpy;iy 
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96. Consider the following pairs: 
I. Tropical Evergreen Rainforest  - Ebony  
II. Tropical Deciduous Foresst - Pine 
III. Temperate Deciduous Forest  - Maple  
Which of the pair given above is/are correct? 
a. I only  b. I and III    c. II and III   
d. II only  e. Answer not known 
fPo;fhZk; ,izfis fUj;jpy; nfhs;f.  
I. ntg;gkz;ly gRikkhwh kiof;fhLfs; - fUq;fhyp  
II. ntg;gkz;ly ,iyAjph; fhLfs;  - NjtjhU 
III. kpjntg;g kz;ly ,iyAjph;f; fhLfs; - Nkg;gps; 
Nkw;Fwpg;gpl;l ,izfspy; vJ rhp?  
a. I kl;Lk;  b. I kw;Wk; III   c. II kw;Wk; III  
d. II kl;Lk;  e. tpil njhpatpy;iy 

 
97. Match the following: 

Desert    Country 
A. Kalahari   1. India 
B. Thar   2. South Africa 
C. Arizona   3. Australia 
D. Great Victoria  4. USA 
 A B C D 
a. 2 1 4 3 
b. 1 2 3 4 
c. 4 2 3 1 
d. 4 3 2 1 
e. Answer not known 
gpd;tUtdtw;iw nghUj;Jf. 
ghiytdk;   ehLfs; 
A. fy`hhp   1. ,e;jpah 
B. jhh;    2. njd; Mg;gphpf;fh 
C.mhpNrhdh   3. M];jpNuypah 
D.fpNul; tpf;Nlhhpah  4. mnkhpf;fh 
 A B C D 
a. 2 1 4 3 
b. 1 2 3 4 
c. 4 2 3 1 
d. 4 3 2 1 
e. tpil njhpatpy;iy 

  
98. Which is the largest port in the west coast of India? 

a. Kandla Port  b. Mumbai Port  c. Kochi port     
d. Marmagao port  e. Answer not known 
,e;jpa Nkw;F flw;fiuapd; kpfg;nghpa JiwKfk; vJ? 
a. fz;l;yh JiwKfk; b. Kk;ig JiwKfk;  c. nfhr;rp JiwKfk;    
d. kh;kNfhth   e. tpil njhpatpy;iy 

 
99. The Headquarters of the central water transport corporation is located at 

a. Kolkata   b. New Delhi    c. Noida   
d. Gowhati   e. Answer not known 
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kj;jpa ePh;top Nghf;Ftuj;J fofj;jpd; jiyikafk; cs;s ,lk;  
a. nfhy;fj;jh   b. GJnly;yp    c. neha;lh   
d. nfsfhj;jp   e. tpil njhpatpy;iy 

 
100. Which one of the following National Highways connects Delhi and Lucknow? 

a. NH 7  b. NH 12   c. NH 24    

d. NH 40  e. Answer not known 
gpd;tUk; Njrpa neLQ;rhiyfspy; nly;ypiaAk; yf;NdhitAk; ,izg;gJ vJ? 
a. NH 7  b. NH 12   c. NH 24    

d. NH 40  e. tpil njhpatpy;iy 
 
101. “Twisters” are otherwise known as 

a. Tsunami  b. Land slide   c. Earth quake  
d. Tornado  e. Answer not known 
“l;Ltp];lh;fs;” ,t;thwhf mwpag;gLfpd;wJ 
a. Rdhkp    b. epyr;rhpT    c. epyeLf;fk;   
d. #whtsp  e. tpil njhpatpy;iy 

 
102. Which area is very low damage risk zone while earthquake? 

a. Kashmir valley   b. Rann of kutch   c. North east states  
d. The Deccan plateau  e. Answer not known 
epyeLf;fj;jpd; NghJ kpff; Fiwthd ghjpg;G Vw;gLk; kz;lyj;jpy;  ,Uf;Fk; gFjp vJ?  
a. fh~;kPh; gs;sj;jhf;F   b. fl;r; gFjp   c. tlfpof;F khepyq;fs;   
d. jf;fhz gPlG+kp    e. tpil njhpatpy;iy 

 
103. Pink noise is related to  

a. Climate change  b. Air pollution   c. Water pollution   
d. Land pollution  e. Answer not known 
,sQ;rptg;G rj;jk; vjNdhL njhlh;GilaJ 
a. fhyepiy khw;wk;  b. fhw;W khRghL   c. ePh; khRghL    
d. epy khRghL  e. tpil njhpatpy;iy 

 
104. Who had developed the central place theory? 

a. Thomas Robert Malthus  b. Vanthunan  c. Walter christaller   
d. Webar    e. Answer not known 
ika ,lf;Nfhl;ghl;il mwpKfg;gLj;jpath; ahh;?  
a. jhk]; ,uhgh;l; khy;j];  b. thd;J}zd;  c. thy;lh; fphp];lhyh;  
d. ntgh;     e. tpil njhpatpy;iy 

 
105. Match the following: 

A. Nokrek   1. Uttar Pradesh 
B. Namdapha  2. West Bengal 
C. Nanda Devi  3. Arunachal Pradesh 
D. Sundarbans  4. Megalaya 
 A B C D 
a.  1 2 3 4 
b.  4 3 2 1 
c.  4 3 1 2 
d.  1 3 4 2 
e. Answer not known 
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nghUj;Jf 
A. ehf;uf;   1. cj;ju gpuNjrk; 

B. ek;jgh   2. Nkw;F tq;fk; 
C. ee;jhNjtp   3. mUzhry gpuNjrk; 
D. Re;jutdk;   4. Nkfhyah 
 A B C D 
a.  1 2 3 4 
b.  4 3 2 1 
c.  4 3 1 2 
d.  1 3 4 2 
e. tpil njhpatpy;iy 

 
106. Yokohama strategy and plan of action was associated with 

a. Natural resources management  b. Natural Disaster management 
c. World wars    d. World Poverty 
e. Answer not known 
Nahf`hkh nray; tiuT jpl;lk; ,jDld; njhlh;G nfhz;lJ 
a. ,aw;ifts Nkyhz;ik   b. ,aw;if Nghplh; Nkyhz;ik  
c. cyf Nghh;fs;     d. cyf tWik 
e. tpil njhpatpy;iy 

 
107. 0° longitude and 0° latitude is located in 

a. Central Australia  b. Brazil      c. Atlantic South and West of Africa 
d. South Pole   e. Answer not known 
0° jPh;f;f NuifAk; 0° ml;r NuifAk; fhzg;gLtJ 
a. kj;jpa M];jpNuypah     b. gpNurpy;      
c. njd;ml;yhz;bf; kw;Wk; Nkw;F Mg;gphpf;fh  
d. njd; JUtq;fspy;     e. tpil njhpatpy;iy 

 
108. _____ is the largest naturally occurring source of commercial energy in India. 

a. Coal  b. Fire-wood    c. Cow dung   
d. Natural Gas e. Answer not known 
,e;jpahtpy; ,aw;ifahf mjpf mstpy; fpilf;Fk; tzpfk; rhh;e;j vhpnghUs; __________ 
MFk;. 
a. epyf;fhp  b. neUg;Gf; fhp   c. gRf;fopTfs;  
d. ,aw;if thA e. tpil njhpatpy;iy 

 
109. The great regulator and stabilizer of climatic elements and climatic changes is  
 a. Mountain    b. Ocean   c. Rainfall    

d.  Atmosphere  e. Answer not known  
fhyepiyiaAk; fhyepiy khw;wj;ijAk; rPuhf;fpr; rkepiyg;gLj;Jk; fhuzp  
a. kiyfs;   b. ngUq;fly;   c. kiog;nghopT    
d. tspkz;lyk;   e. tpil njhpatpy;iy 

 
110. Which of the following waterfall is not located in Tamil Nadu? 
 a. Beman waterfall  b. Pykara waterfall  c. Thirumoorthy waterfall    

d. Palaruvi waterfall e. Answer not known 
fPNo nfhLf;fg;gl;Ls;sitfspy; jkpo;ehl;by; mike;jpuhj ePh;tPo;r;rp vJ?  
a. gPkd; ePh;tPo;r;rp   b. igf;fhuh ePh;tPo;r;rp  c. jpU%h;j;jp ePh;tPo;r;rp   
d. ghyUtp ePh;tPo;r;rp  e. tpil njhpatpy;iy  
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111. Bhagalpur thermal power station is located in 
 a. Jharkhand   b. Uttar pradesh  c. West Bengal   

d. Bihar   e. Answer not known 
gfy;G+h; mdy;kpd; epiyak; mike;Js;s khepyk;  
a. [hh;fz;l;   b. cj;jpugpuNjrk;  c. Nkw;F tq;fhsk;    
d. gPfhh;    e. tpil njhpatpy;iy 

 
112. Match the following Aluminium plants with their place of location: 

A. BALCO   1. Metturdam 
B. HINDALCO  2. Korba 
C. MALCO   3. Koraput 
D. NALCO   4. Renukoot 
 A B C D 
a. 4 2 3 1 
b. 2 4 1 3 
c. 3 1 4 2 
d. 4 1 2 3 
e. Answer not known 
gpd;tUk; mYkpdpak; njhopw;rhiyfis mtw;wpd; ,Ug;gplj;Jld; nghUj;Jf: 
A. BALCO   1. Nkl;^h; miz 
B. HINDALCO  2. Nfhh;gh 
C. MALCO   3. NfhuhGl; 
D. NALCO   4. NuZf;$l; 
 A B C D 
a. 4 2 3 1 
b. 2 4 1 3 
c. 3 1 4 2 
d. 4 1 2 3 
e. tpil njhpatpy;iy 

 
113. Find the correct matching for the given rivers in Column B which drain the plateaus in 

Column A 
A     B 
A. Malwa Plateau   1. Damodar 
B. Chotanagpur Plateau  2. Tapti 
C. Meghalaya Plateau  3. Chambal 
D. Maharashtra Plateau  4. Yamuna 

A B C D 
a. 2 3 4 1 
b. 3 1 4 2 
c. 4 3 1 2 
d. 3 2 4 1 
e. Answer not known 
neLthpir B-y; nfhLf;fg;gl;Ls;s ejpfis mitfs; ghAk; neLthpir A–y; 
nfhLf;fg;gl;Ls;s gPlG+kpfSld; rhpahf nghUj;Jf. 
A     B 
A. khy;th gPlG+kp   1. jhNkhjh; 
B. Nrhl;lh ehf;G+h; gPlG+kp  2. jgjp 
C. Nkfhyah gPlG+kp   3. rk;gy; 
D. kfhuh~;l;uh gPlG+kp  4. aKdh 
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  A B C D 
a. 2 3 4 1 
b. 3 1 4 2 
c. 4 3 1 2 
d. 3 2 4 1 
e. tpil njhpatpy;iy 
 

114. Where do you find Meso – Thermal Climate in India? 
a. Eastern Ghats  b.  Western Ghats   c. Gangetic Plain   
d. Coromandel coast e. Answer not known 
,e;jpahtpy; ,ilepiy ntg;gkz;ly fhyepiy vq;F fhzg;gLfpwJ? 
a. fpof;F njhlh;r;rp kiy b. Nkw;F njhlh;r;rp kiy  c. fq;if rkntsp   
d. Nrhokz;ly flw;fiu e. tpil njhpatpy;iy 

 
115. Which of the below bounds Nagaland on the east? 

a. Assam   b. West Bengal   c. Myanmar  
d. Manipur    e. Answer not known 
fPNo nfhLf;fg;gl;Ls;sitfspy; ehfhyhe;Jf;F fpof;F vy;iy vJ? 
a. mrhk;   b. Nkw;F tq;fhsk;   c. kpahd;kh;   
d. kzpg;g+h;   e.  tpil njhpatpy;iy 

 
116. Two portions of a dice are given below. When 1 is at the top, which number will be at the 

bottom? 

 
a. 3  b. 4  c. 5  d. 6  e. Answer not know  
xU gfilapd; ,U epiyfs; fPNo glkhf jug;gl;Ls;sd. vz; 1 NkNy ,Uf;Fk;NghJ fPNo 
cs;s vz; vJ?  

      
a. 3  b. 4  c. 5  d. 6  e. tpil njhpatpy;iy 

 
117. In a hollow cylinder, the sum of the external and internal radii is 14 cm and the width is 4 

cm. If its height is 20 cm, the volume of the material in it is  
a. 5600  cm3   b. 1120  cm3   c. 56  cm3   
d. 3600  cm3   e. Answer not know  
Xu cs;sPlw;w cUisapd; ntspg;Gw kw;Wk; cl;Gw Muq;fspd; $Ljy; 14 nr.kP kw;Wk; 
mjd; jbkd; 4 nr.kP MFk;. cUisapd; cauk; 20 nr.kP vdpy;> mjid cUthf;fg; 
gad;gl;l nghUspd; fd msT 
a. 5600  nr.kP3  b. 1120  nr.kP3  c. 56  nr.kP3  
d. 3600  nr.kP3  e. tpil njhpatpy;iy 

 
118. The length, breadth and height of a chocolate box are in the ratio 5:4:3. If its volume is 7500 

cm3, then find its dimensions. 
a. 30 cm, 24 cm, 18 cm    b. 25 cm, 20 cm, 15 cm 
c. 35 cm, 28 cm, 21 cm   d. 20 cm, 16 cm, 12 cm 
e. Answer not know 
xU rhf;Nyl; ngl;bapd; ePsk;> mfyk; kw;Wk; cauk; KiwNa 5:4:3 vd;w tpfpj;jpy; cs;sJ. 
mjd; fd msT 7500 nrkP3 vdpy; mjd; gf;f msTfisf; fhz;f. 
a. 30 nrkP, 24 nrkP, 18 cm    b. 25 nrkP, 20 nrkP, 15 cm 
c. 35 nrkP, 28 nrkP, 21 cm   d. 20 nrkP, 16 nrkP, 12 cm 
e. tpil njhpatpy;iy 
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119. A group of letters are given. A numerical code has been given to each letter. These letters 
have to be unscrambled into a meaningful word. Find out the code for the word so formed 
from the 4 answers given. 

L I N C P E 

1 2 3 4 5 6 

a. 2 3 4 1 5 6   b. 5 6 3 4 2 1    c. 6 1 3 5 2 4    
d. 4 2 1 3 5 6  e. Answer not know 
fPNo vOj;Jfspd; njhFg;G xd;W nfhLf;fg;gl;Ls;sJ. xt;nthU vOj;Jf;Fk; jdpj;jdpNa 
vz; FwpaPL toq;fg;gl;Ls;sJ. ,j;njhFg;G vOj;Jfis ,lk;ngau;j;J khw;wpaikj;jhy; 
nghUSs;s thu;j;ijf; fpilf;Fk;. mjd;gb> Gjpjhff; fz;Lgpbj;j thu;j;ijf;fhd 
vz;FwpaPLidf; fhz;f. 

L I N C P E 

1 2 3 4 5 6 

a. 2 3 4 1 5 6   b. 5 6 3 4 2 1    c. 6 1 3 5 2 4    
d. 4 2 1 3 5 6  e. tpil njhpatpy;iy 

 
120. The radii of two right circular cylinders are in the ratio 2 : 3. Find the ratio of their volumes 

if their heights are in the ratio 5 : 3 
a. 21 : 27  b. 26 : 27   c. 20 : 27   
d. 10 : 9  e. Answer not know 
,uz;L Neu; tl;l cUisfspd; Muq;fspd; tpfpjk; 2:3. NkYk; cauq;fspd; tpfpjk; 5:3 
vdpy;> mtw;wpd; fd msTfspd; tpfpjj;ijf; fhz;f. 
a. 21 : 27  b. 26 : 27   c. 20 : 27   
d. 10 : 9  e. tpil njhpatpy;iy 

 
121. Choose the correct statements 

I. Inflation benefits the creditors 
II. Inflation benefits the fixed income group 
III. Purchasing power of currency decreases with increase in inflation 
a. I only  b. II only    c. III only 
d. I, III    e. Answer not known 
rhpahd $w;Wfis Njh;f 
I. gztPf;fk; fldhspfSf;F ed;ik gaf;Fk; 
II. gztPf;fk; epiyahd tUkhdjhuh;fSf;F ed;ik gaf;Fk; 
III. gztPf;f mjpfhpg;ghdJ gzj;jpd; thq;Fk; rf;jpia Fiwf;fpwJ 
a. I kl;Lk;  b. II kl;Lk;    c. III kl;Lk; 
d. I, III   e. tpil njhpatpy;iy 
 

122. Choose the correct statements about Finance Commission 
I. Setup under Article 280 
II. Appointed by the president every five years once 
III. It consists of chairman and four members 
a. I, II  b. I, III  c. II, III d. I, II, III e. Answer not known 
epjpf;FO Fwpj;j rhpahd $w;Wfis Njh;f 
I. rl;lf;$W 280d; fPo; mikf;fg;gl;lJ 
II. Ie;jhz;LfSf;F xUKiw FbauR jiytuhy; epakpf;fg;gLfpwJ 
III. ,J jiyth; kw;Wk; ehd;F cWg;gpdh;fis cs;slf;fpaJ 
a. I, II  b. I, III  c. II, III d. I, II, III e. tpil njhpatpy;iy 
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123. Which of the following is/are recommendations of the 15th Finance Commission? 
I. The states and centre should stick to the debt levels recommended by the FRBM Act 
II. Broadening the tax base 
III. Streamlining the tax rates 
a. I, II  b. I, III  c. II, III d. All of these e. Answer not known 
15tJ epjpf;FOtpd; ghpe;Jiufis Njh;f 
I. FRBM rl;lj;jhy; ghpe;Jiuf;fg;gl;l fld; msit khepyq;fSk; kj;jpa muRk; 

filgpbf;f Ntz;Lk;. 
II. thp mbg;gilia tphpTgLj;Jjy; 
III. thp tpfpjq;fis newpg;gLj;Jjy; 
a. I, II  b. I, III  c. II, III d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

124. How many pairs are correctly matched? 
Five Year Plan   Objective 
I. First Plan   Focus on Agriculture and Price Control 
II. 3rd Plan   Achieve Self Sufficiency 
III. 4th Plan   Growth with stability 
IV. 12th Plan   Towards faster and more inclusive growth 
a. One pair   b. Two pairs    c. Three pairs 
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
Ie;jhz;L jpl;lq;fs;   Nehf;fk; 
I. Kjy; jpl;lk;   Ntshz; kw;Wk; tpiyf;fl;Lg;ghl;by; ftdk; 
II. 3tJ jpl;lk;   jd;dpiwT miljy; 
III. 4tJ jpl;lk;   epiyahd tsh;r;rp 
IV. 12tJ jpl;lk;   Ntfkhd kw;Wk; cs;slf;fpa tsh;r;rpia Nehf;fp 
a. XH; ,iz   b. ,U ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

125. Choose the correct statements about NITI Aayog  
I. It promotes the spirit of competitive federalism amongst the states 
II. It consists of 8 full time members 
III. It was established on 1 January 2015 
a. I only  b. I, III c. II, III d. All of these e. Answer not known 
epjp MNahf; Fwpj;j rhpahd $w;Wfis Njh;f 
I. ,J khepyq;fSf;F ,ilNa Nghl;b $l;lhl;rp czh;it Cf;Ftpf;fpwJ. 
II. ,J 8 KONeu cWg;gpdh;fis cs;slf;fpaJ 
III. ,J 1 [dthp> 2015 ,y; Njhw;Wtpf;fg;gl;lJ 
a. I kl;Lk;   b. I, III     c. II, III  
d. ,it midj;Jk;    e. tpil njhpatpy;iy 
 

126. Choose the correct statements 
I. Fiscal Federalism refers to the financial relations between the country’s central 

government and other units of Government 
II. The expert committee of 1931 with Lord Viscount peel as the Chairman examined 

the fiscal relations between the centre and provinces 
a. I only b. II only c. Both I and II c. None of these e. Answer not known 
rhpahd $w;Wfis Njh;f 
I. epjp $l;lhl;rp vd;gJ ehl;bd; kj;jpa murhq;fj;jpw;Fk; murhq;fj;jpd; gpw 

gphpTfSf;Fk; ,ilNa cs;s epjp cwTfisf; Fwpf;fpwJ 
II. yhh;l; tp];fTz;l; gPy; jiyikapyhd epGzh; FO 1931Mk; Mz;L kj;jpa kw;Wk; 

khfhzq;fSf;F ,ilapyhd epjp cwTfis Ma;T nra;jJ. 
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a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

127. How many pairs are correctly matched? 
Scheme     Year of Launch 
I. Digitial India Campaign  2015 
II. MUDRA Loan Scheme  2015 
III. PM Kisan Samman Nidhi  2019 
IV. Ayushman Bharath   2018 
a. One pair  b. Two pairs   c. Three pairs 
d. Four pairs  e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
jpl;lq;fs;     Njhw;Wtpf;fg;gl;l Mz;L 
I. vz;k ,e;jpah ,af;fk;  2015 
II. Kj;uh fld; jpl;lk;   2015 
III. PM fprhd; rk;khd; epjp  2019 
IV. MA~;khd; ghuj;   2018 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

128. Which of the following is/are not direct taxes? 
I. Corporate Tax II. Capital Gain Tax   III. Securities Transaction Tax 
IV. Service Tax V. Value Added Tax 
a. I, III, IV b. II, III, IV  c. III, IV, V d. IV, V e. Answer not known 
gpd;tUtdtw;Ws; Neub thpfs; my;yhjit vit? 
I. epWtd thp II. %yjd Mjha thp  III. gj;jpu ghpth;j;jid thp 
IV. Nrit thp V. kjpg;G $l;L thp 
a. I, III, IV b. II, III, IV  c. III, IV, V d. IV, V  e. tpil njhpatpy;iy 
 

129. Choose the correct statements 
I. The Ministry of MSME has set a target to increase MSME sector contribution to GDP 

to 50% by 2025 
II. Champion online portal is a grienvance redressal mechanism in MSME 
III. MSME Samadhan is the Portal that simplifies the process of registration of any 

enterprises under MSME category 
a. I, II   b. I, III  c. II, III d. All of these e. Answer not known 
rhpahd $w;Wfis Njh;f 
I. MSME Jiwapd; gq;fspg;ig 2025Mk; Mz;bw;Fs; 50% Mf GDP apy; mjpfhpf;f 

MSME mikr;rfk; ,yf;F eph;zapj;Js;sJ 
II. rhk;gpad; ,iza Nghh;l;ly; vd;gJ MSME apy; cs;s FiwjPh;f;Fk; 

njhopy;El;gkhFk; 
III. MSME rkhjhd; vd;gJ MSME gphptpd; fPo; ve;jnthU epWtdq;fspd; gjpT 

nray;KiwiaAk; vspjhf;Fk; ,iza trjpahFk;. 
a. I, II   b. I, III  c. II, III d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

130. Which of the following is/are related to MSME sector? 
I. RAMP – Central Sector assisted World Bank Scheme 
II. ZED Certification Scheme 
III. ASPIRE Scheme 
IV. Credit Guarantee Scheme 
V. Credit Linked Capital Subsidy Scheme 
a. I, III, V b. III, IV c. II, IV, V d. All of these e. Answer not known 
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MSME Jiw njhlh;Gilait vit? 
I. RAMP – kj;jpa Jiw cjtpAldhd cyf tq;fpj;jpl;lk; 
II. ZED  rhd;wpjo; jpl;lk; 
III. ASPIRE jpl;lk; 
IV. fld; cj;jputhj jpl;lk; 
V. fld; ,izf;fg;gl;l %yjd khdpa jpl;lk; 
a. I, III, V b. III, IV c. II, IV, V d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

131. Choose the correct statements about Special Economic Zone (SEZ) 
I. Duty Free import of goods for developing, operating and maintaining SEZ units. 
II. 100% Income tax exemption on export income for SEZ units for first 5 years 
III. SEZ units are exempted from Minimum Alternate Tax 
IV. 74% of FDI allowed in Manufacturing sector  
V. Supplies to SEZs are Zero rated under the IGST Act 
a. I, II  b. III, IV c. I, II, III, V  d. All of these e. Answer not known 
rpwg;G nghUshjhu kz;lyk; Fwpj;j rhpahd $w;Wfis Njh;f 
I. SEZ epWtdq;fis cUthf;Fjy;> ,af;Fjy;> guhkhpj;jy; Mfpatw;Wf;fhd 

thpapy;yhky; nghUl;fis ,wf;Fkjp nra;jy; 
II. Kjy; Ie;jhz;LfSf;F SEZ epWtdq;fSf;F Vw;Wkjp tUkhdj;jpy; 100% tUkhd 

thp tpyf;F 
III. SEZ epWtdq;fSf;F Fiwe;jgl;r khw;W thpapypUe;J tpyf;F mspf;fg;gl;Ls;sJ 
IV. cw;gj;jp Jiwapy; 74% me;epa Neub KjyPL mDkjpf;fg;gLfpwJ. 
V. IGST rl;lj;jpd; fPo; SEZ fSf;fhd tpepNahf tpfpjk; g+[;[pakhf kjpg;gplg;gLfpwJ 
a. I, II  b. III, IV c. I, II, III, V  d. ,it midj;Jk; e. tpil njhpatpy;iy 

 
132. Choose the correct statements 

I. Repo rate – Rate at which the RBI willing to lend to commercial banks 
II. Reverse Repo Rate – The Rate at which the RBI is willing to borrow from the 

commercial banks 
III. Demonetization – Stripping a currency units of its status as legal tender 
a. I, II  b. I, III  c. III only d. All of these e. Answer not known 
rhpahd $w;Wfis Njh;f 
I. nug;Ngh tpfpjk; - tzpf tq;fpfSf;F ,e;jpa hprh;t; tq;fp fld; nfhLf;f tpUk;Gk; 

tpfpjk; 
II. kPs; nug;Ngh tpfpjk; - tzpf tq;fpfsplkpUe;J ,e;jpa hprh;t; tq;fp fld; thq;f 

tpUk;Gk; tpfpjk; 
III. gzkjpg;gpog;G – rl;lg+h;tkhd gzj;jpd; kjpg;Gfis ePf;Fjy; 
a. I, II  b. I, III  c. III kl;Lk; d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

133. How many pairs are correctly matched? 
I. Annual Plans  – 1966 to 1969 
II. Rolling plan   – 1978 to 1979 
III. Plan Holidays  - 1990 to 1992 
a. One pair   b. Two pairs   c. Three pairs 
d. None of these  e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
I. Mz;L jpl;lk;   - 1966 – 1969 
II. Roy; jpl;lk;  - 1978 – 1979 
III. jpl;l tpLKiw - 1990 – 1992 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. VJkpy;iy   e. tpil njhpatpy;iy 
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134. Choose the correct statements about GST 
I. Single point tax without cascading effect  
II. It has 3 components 
III. New Zealand was the first country to implement GST in 1954 
IV. The Union Minister of state incharge of Revenue will be member of GST Council 
a. I, II   b. I, II, IV c. I, IV  d. All of these e. Answer not known 
GST Fwpj;j rhpahd $w;Wfis Njh;f 
I. mbj;js tpistpy;yhj xU Kid thpahFk;. 
II. ,J %d;W $Wfis cs;slf;fpaJ 
III. epa+rpyhe;J 1954Mk; Mz;L GST I eilKiwg;gLj;jpa Kjy; ehlhFk;. 
IV. GST fTd;rpypd; cWg;gpduhf kj;jpa tUtha; Jiw mikr;rh; nghWg;Ngw;W ,Ug;ghh; 
a. I, II   b. I, II, IV c. I, IV  d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

135. How many pairs are correctly matched regarding the methods of redemption of public 
debt 
I. Sinking Fund – First introduced in England by Walpol 
II. Budgetary Surplus – easiest way of paying off the public debt 
III. Repudiation – Rarely Possible Method 
IV. Capital levy – the most controversial method of debt repayment  
a. One pair  b. Two pairs   c. Three pairs 
d. Four pairs  e. Answer not known 
nghJf;flid kPl;gjw;fhd Kiwfs; njhlh;ghf vj;jid ,izfs; rhpahf 
nghUj;jg;gl;Ls;sd? 
I. %o;Fk; epjp – Kjd;Kjypy; thy;Nghy; ,q;fpyhe;jpy; mwpKfg;gLj;jpdhh; 
II. tuT nryT jpl;l cghp – nghJf;flid milf;f vspjhd top 
III. fld; kWg;G – mhpjhd rhj;jpa Kiw 
IV. %yjdj; jPh;it - ,J rh;r;irf;Fhpa fld; jPh;it KiwahFk; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

136. Choose the correct statements about Vote on Account Budget 
I. It mentioned under Article 116 of the Indian Constitution  
II. This budget can be presented in the Middle of the year 
III. This type of budget is generally sanctioned for not more than six months 
a. I, II  b. I, III  c. II, III d. All of these d. Answer not known 
epjpf;F thf;nfLg;G tuT nryT jpl;lk; Fwpj;j rhpahd $w;Wfis Njh;f 
I. ,J ,e;jpa murpayikg;G rl;lf;$W 116,y; Fwpg;gplg;gl;Ls;sJ. 
II. ,e;j gl;n[l; tUl kj;jpapy; rkh;g;gpf;fg;gLk; 
III. ,e;j tif gl;n[l; nghJthf MW khjq;fSf;F Nky; mDkjpf;fg;gLtjpy;iy 
a. I, II  b. I, III  c. II, III d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
137. Which of the following were included in the capital receipts? 

I. Recovery of Loans II. Borrowing and Liabilities  III. Disinvestment  
a. I, II  b. I, III  c. II, III d. All of these e. Answer not known 
gpd;tUtdtw;Ws; %yjd tutpy; cs;sit vit? 
I. fld;fis t#ypj;jy;  II. fld;fs; kw;Wk; gpw nghWg;Gfs; 
III. KjyPl;il tpyf;Fjy; 
a. I, II  b. I, III  c. II, III d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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138. How many pairs are correctly matched? 
I. Revenue Deficit = Total Revenue Expenditure – Total Revenue Receipts 
II. Budget Deficit = Total Expenditure – Total Revenue 
III. Fiscal deficit = Budget deficit + Government’s Market borrowing and liabilities 
IV. Primary deficit = Fiscal deficit + Interest Payment 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
I. tUtha; gw;whf;Fiw = nkhj;j tUtha; nrytpdk; - nkhj;j tUtha; tuTfs; 
II. tuT nryT jpl;lg; gw;whf;Fiw = nkhj;j nrytpdk; - nkhj;j tuT 
III. epjpg; gw;whf;Fiw = tuT nryTj; jpl;lg;gw;whf;Fiw + murpd; re;ijf; fld;fSk; 

Vida nghWg;GfSk; 
IV. Kjd;ik gw;whf;Fiw = epjpg;gw;whf;Fiw + tl;b nrYj;Jjy;  
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

139. Match the following 
Finance Commission  Chairman 
A. Third    1. A.K. Chanda 
B. Fifth    2. Mahaveer Tyagi 
C. Sixth    3. K. Brahmananda Reddy 
D. Seventh    4. J.M. Shelat 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c.  1 2 4 3 
d. 3 4 2 1 
e. Answer not known 
nghUj;Jf 
epjpf;FO    jiyth; 
A. %d;whtJ    1. A.K. re;jh 
B. Ie;jhtJ    2. kfhtPh; jpahfp 
C. MwhtJ    3. K. gpuk;khde;jh nul;b 
D. VohtJ    4. J.M. nryhj; 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c.  1 2 4 3 
d. 3 4 2 1 
e. tpil njhpatpy;iy 
 

140. Which of the following is/are Fiscal instruments? 
I. Taxation  II. Public Expenditure III. Public Debt 
IV. Bank Rate V. Repo Rate    
a. I, II, V b. I, II, III c. I, II only  d. All of these e. Answer not known 
gpd;tUtdtw;Ws; vit epjpf;fUtpfshFk;? 
I. thp tpjpj;jy;  II. nghJr;nryT  III. nghJf;fld; 
IV. tq;fp tpfpjk;  V. nug;Ngh tpfpjk; 
a. I, II, V b. I, II, III c. I, II kl;Lk;  d. ,it midj;Jk; e. tpil njhpatpy;iy 
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141. Which of the following is/are objectives of Fiscal Policy? 
I. Price Stability   II. Exchange stability 
III. Equitable distribution  IV. Capital formation 
a. I, II  b. III, IV c. I, II, III d. All the above e. Answer not known 
gpd;tUtdtw;Ws; vit epjpf;nfhs;ifapd; Nehf;fq;fs;? 
I. tpiy epiyj;jd;ik  II. ehza khw;WtPj rkepiy 
III. rkkhd gfph;T   IV. %yjd cUthf;fk; 
a. I, II  b. III, IV c. I, II, III d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

142. Arrange the following in chronological order 
I. Vishveshwarya’s book Planned Economy of India 
II. Gandhian Plan 
III. Bombay Plan 
IV. Sarvodaya Plan 
V. People’s Plan 
a. I, II, III, IV, V  b. I, III, II, V, IV  c. I, III, V, II, IV  
d. I, V, II, III, IV  e. Answer not known 
gpd;tUtdtw;iw fhythpirg;gLj;Jf 
I. tp];Nt];ua;ahtpd; Planned Economy of India Gj;jfk; 
II. fhe;jpa jpl;lk; 
III. gk;gha; jpl;lk; 
IV. rh;Nthjah jpl;lk; 
V. kf;fs; jpl;lk; 
a. I, II, III, IV, V  b. I, III, II, V, IV  c. I, III, V, II, IV  
d. I, V, II, III, IV  e. tpil njhpatpy;iy 
 

143. Choose the correctly matched pairs 
I. Long term Planning  - Strategic Planning 
II. Medium term Planning - Tactical Planning 
III. Short term Planning  - Operational Planning 
a. I, II  b. I, III  c. II, III d. All the above e. Answer not known 
rhpahd ,izfis Njh;f 
I. ePz;lfhy jpl;lk;  - tpa+fj; jpl;lkply; 
II. eLj;juf;fhy jpl;lk;  - je;jpukhd jpl;lkply; 
III. FWfpa fhy jpl;lk;  - nray;ghl;L jpl;lkply; 
a. I, II  b. I, III  c. II, III d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

144. Which of the following is/are the functions of NITI Aayog? 
I. Cooperative and competitive federalism 
II. Vision and scenario planning 
III. Internal consultancy 
IV. Monitoring and allocating funds to plans 
a. I, II  b. III, IV c. I, II, III d. All of these e. Answer not known 
gpd;tUtdtw;Ws; vit epjp MNahf;fpd; gzpfshFk;? 
I. $l;LwT kw;Wk; Nghl;b mbg;gilapyhd $l;lhl;rp 
II. njhiyNehf;F kw;Wk; fhl;rp jpl;lkply; 
III. cs;ehl;L MNyhrid toq;Fjy; 
IV. jpl;lq;fis fz;fhzpj;jy; kw;Wk; epjp xJf;Fjy; 
a. I, II  b. III, IV c. I, II, III d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 
 



 

34 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

145. Which of the following is/are objectives of monetary policy? 
I. Stability of Exchange Rates  II. Price Stability 
III. Full employment   IV. Economic growth 
a. I, II  b. III, IV c. I, II, III d. All of these e. Answer not known 
gzf;nfhs;ifapd; Nehf;fq;fshtd vit? 
I. ghpth;j;jid tpfpjj;jpy; epiyj;jd;ik  II. tpiyia epiyg;gLj;Jjy; 
III. KO Ntiytha;g;G    IV. nghUshjhu tsh;r;rp 
a. I, II  b. III, IV c. I, II, III d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

146. Which of the following is/are selective method of credit control? 
I. Bank Rate Policy   II. Rationing of Credit 
III. Publicity    IV. Regulation of Consumer’s Credit 
a. I, II  b. II, III, IV  c. I, II, IV d. All of these e. Answer not known 
gpd;tUtdtw;Ws; vit fld; jd;ikf; fl;Lg;ghl;L Kiwfs;? 
I. tq;fp tpfpjf; nfhs;if  II. fld; gq;fPL 
III. tpsk;gug;gLj;Jjy;  IV. Efh;Nthh; flid newpg;gLj;Jjy; 
a. I, II  b. II, III, IV  c. I, II, IV d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

147. Arrange the following in chronological order 
I. Banking Regulation Act 
II. The Payment and Settlement Systems Act 
III. Banking Ombudsman Scheme 
IV. Foreign Exchange Management Act 
a. I, II, III, IV  b. IV, II, I, III   c. I, III, IV, II 
d. I, III, II, IV  e. Answer not known 
gpd;tUtdtw;iw fhythpirg;gLj;Jf 
I. tq;fp xOq;FKiwr; rl;lk; 
II. nrYj;Jjy; kw;Wk; jPh;Tr; rl;lk; 
III. tq;fp FiwjPh;g;gha jpl;lk; 
IV. me;epa nryhtzp Nkyhz;ikr; rl;lk; 
a. I, II, III, IV  b. IV, II, I, III   c. I, III, IV, II 
d. I, III, II, IV  e. tpil njhpatpy;iy 
 

148. Choose the correctly matched pairs 
I. First steel industry – Kulti 
II. First large-scale plant TISCO – Jamshedpur 
III. Vishveshvaraya iron and steel company – Bhadravathi 
a. I, II  b. I, III  c. II, III d. All of these e. Answer not known 
rhpahd ,izfis Njh;f 
I. Kjy; v/F njhopw;rhiy – Fy;b 
II. Kjy; nghpa mstpyhd Miy TISCO – [hk;n~l;g+h; 
III. tp];Nt];tua;ah ,Uk;G kw;Wk; v/F Miy – gj;uhtjp 
a. I, II  b. I, III  c. II, III d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

149. Choose the correct statements 
I. 14 banks with deposits above ₹50 crores were nationalised on 19 July 1969 
II. 6 banks with deposits above ₹200 crores were nationalised on 19 April 1980 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
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rhpahd $w;Wfis Njh;f 
I. 50 Nfhbf;F Nky; nlghrpl; nra;j 14 tq;fpfs; 1969 [{iy 19 md;W 

Njrpakakhf;fg;gl;ld 
II. 200 Nfhbf;F Nky; nlghrpl; nra;j 6 tq;fpfs; 1980 Vg;uy; 19 md;W 

Njrpakakhf;fg;gl;ld 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

150. Choose the correct statements 
I. Kisan credit card scheme was launched in 1998 by RBI and NABARD 
II. Agricultural Produce Market Committee is a constitutional body 
III. The Prime Minister’s Crop Insurance Scheme was launched on 18 February 2016 
a. I, III b. I, II  c. II, III d. All the above e. Answer not known 
rhpahd $w;Wfis Njh;f 
I. tptrhapfs; fld; ml;il jpl;lk; 1998 Mk; Mz;L RBI kw;Wk; eghh;lhy; 

Njhw;Wtpf;fg;gl;lJ. 
II. Ntshz; cw;gj;jp mq;fhb FO xU murikg;G cWg;ghFk; 
III. gpujk ke;jphpapd; gaph;f;fhg;gPl;L jpl;lk; gpg;uthp 18> 2016 md;W Njhw;Wtpf;fg;gl;lJ 
a. I, III b. I, II  c. II, III d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
151. Which of the following is/are part of the Electoral College of the President of India?  

1. MPs of both Houses of Parliament  
2. MLAs of the states of Delhi and Puducherry  
3. Nominated members of Rajya Sabha and Lok Sabha  
a. 1 only    b. 1 and 2 only    c. 2 and 3 only  
d. 1, 2 and 3 
gpd;tUtdtw;wpy; vJ ,e;jpa FbauRj; jiythpd; Njh;jy; FOtpd; xU gFjpahFk;? 
1. ehlhSkd;wj;jpd; ,U mitfspd; vk;.gp.f;fs; 
2. nly;yp kw;Wk; GJr;Nrhp khepyq;fspd; vk;.vy;.V.f;fs; 
3. uh[;argh kw;Wk; Nyhf;rghtpd; epakd cWg;gpdh;fs; 
a. 1 kl;LNk    b. 1 kw;Wk; 2 kl;LNk  c. 2 kw;Wk; 3 kl;LNk  
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
152. Choose the incorrect statements with reference to the Conditions of the Governor's office.  

1. The office of governor of a state is an employment under the Central government.  
2. The emoluments and allowances of the Governor shall not be diminished during his 

term of office.  
a. 1 only     b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2   e. Answer not known 
MSeh; mYtyfj;jpd; epge;jidfs; njhlh;ghd jtwhd $w;Wfis Njh;e;njLf;fTk;. 
1. xU khepyj;jpd; MSeh; mYtyfk; vd;gJ kj;jpa murpd; fPo; cs;s mYtyfk;. 
2. MSehpd; Cjpaq;fs; kw;Wk; gbfs; mtuJ gjtpf;fhyj;jpy; Fiwf;fg;glf;$lhJ 
a. 1 kl;LNk    b. 2 kl;LNk   c. 1 kw;Wk; 2 ,uz;Lk; 
d. ,uz;Lk; ,y;iy   e. tpil njhpatpy;iy 
 

153. Choose the correct statements regarding the Election Commission of India (ECI) 
1. The Election Commissioners enjoy the same status as available to the Chief Justice of 

the High Court.  
2. The Chief Election Commissioner can be removed from office only through 

impeachment by Parliament.  
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3. The decisions of the ECI can be challenged only in the the Supreme Court of India by 
appropriate petitions.  

a. 1 and 2 only    b. 2 only    c. 2 and 3 only  
d. 1, 2 and 3    e. Answer not known 
,e;jpa Njh;jy; Mizak; (ECI) njhlh;ghd rhpahd $w;Wf;fis Njh;T nra;aTk; 
1. jiyik cah;ePjpkd;w ePjpgjpf;F ,izahd mNj me;j];ij jiyik Njh;jy; Mizah; mDgtpf;fpd;whh;  
2. ghuhSkd;wj;jpd; %yk; kl;LNk jiyik Njh;jy; Mizaiu gjtp ePf;fk; nra;a KbAk;  
3. ,e;jpa Njh;jy; Mizaj;jpd;; KbTfis jFjpahd Gfhhpd;gb ,e;jpa cr;r ePjpkd;wj;jhy; kl;LNk  tprhuizf;F 

cl;gLj;j  KbAk; 
a. 1 kw;Wk; 2 kl;Lk;   b. 2 kl;LNk   c. 2 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3   e. tpil njhpatpy;iy 
 

154. Choose the correct statements regarding Pardoning Power Governor 
1. The pardoning power of the Governor extends to the sentence of any person convicted 

of any offence against State law only.  
2. The Governor cannot pardon against the death sentence and sentence of a Court 

Martial.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 

 khepy MSehpd; kd;dpf;Fk; mjpfhuk; Fwpj;j rhpahd $w;Wfis Njh;f 
1. khepy rl;lk; %yk; jz;bf;fg;gl;l ve;j xU egUf;Fk; kd;dpg;G toq;Fk; mjpfhuk; MSeUf;F cz;L 
2. kuz jz;lid kw;Wk; ,uhZt ePjpkd;wj;jpd; jz;lidf;F vjpuhf MSeh; kd;dpf;Fk; mjpfhuj;ij gad;gLj;j KbahJ. 

  a. 1 kl;LNk    b. 2 kl;LNk    c. 1 kw;Wk; 2 ,uz;Lk; 
d. ,uz;Lk; ,y;iy  e. tpil njhpatpy;iy 

 
155. Which of the following are part of the principles of the Rule of Law?  

1. Supremacy of Law  
2. Equality before law and equal protection of Law  
3. Primacy of individual’s rights  
4. Due procedure of law  
a. 1, 2 and 3 only   b. 2, 3 and 4 only    c. 1, 3 and 4 only  
d. 1, 2 and 4 only  e. Answer not known 

 gpd;tUtdtw;wpy; vJ rl;lj;jpd; Ml;rpapd;  xU gFjpahFk;? 
1. rl;lj;jpd; Nkyhjpf;fk; 
2. rl;lj;jpd; Kd; rkk; kw;Wk; rl;lj;jpd; rk ghJfhg;G 
3. jdpeghpd; chpikfSf;F Kd;Dhpik 
4. rl;lj;jpd; rhpahd eilKiw 
a. 1> 2 kw;Wk; 3 kl;LNk b. 2> 3 kw;Wk; 4 kl;LNk  c. 1> 3 kw;Wk; 4 kl;LNk   
d. 1> 2 kw;Wk; 4 kl;LNk e. tpil njhpatpy;iy 

 
156. Radius and height of a right circular cone and that of a right circular cylinder are 

respectively, equal. If the volume of the cylinder is 120 cm3, then the volume of the cone is 
equal to 
a. 1200 cm3   b. 360 cm3   c. 90 cm3   
d. 40 cm3  e. Answer not know 
xU Neu;tl;;;lf; $k;G kw;Wk; Neu;tl;l cUisapd; MuKk; cauKk; KiwNa rkk; 
cUisapd; fd msT 120 nr.kP3 vdpy;> $k;gpd; fd msT   

a. 1200 cm3  b. 360 cm3   c. 90 cm3   
d. 40 cm3  e. tpil njhpatpy;iy 
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157. Two taps can fill a tank in 45 minutes and 60 minutes. Another tap can empty it in 30 
minutes. If the tank is empty and all the 3 taps are kept open in how much time the tank 
will be filled  
a. 3 Hrs     b. 4 Hrs   c. 6 Hrs  
d. 12 Hrs    e. Answer not know 
,U Foha;fs; xU njhl;bia jdpj;jdpNa KiwNa 45 epkplk; kw;Wk; 60 epkplq;fspy; 
epug;GfpwJ. kw;nwhU Foha; 30 epkplj;jpy; ntspNaw;WfpwJ. njhl;b fhypahf ,Uf;Fk; 
NghJ 3 Foha;fSk; jpwe;jpUe;jhy; njhl;b epuk;g vt;tsT NeukhFk;? 
a. 3 kzp Neuk;   b. 4 kzp Neuk;  c. 6 kzp Neuk;  
d. 12 kzp Neuk;   e. tpil njhpatpy;iy 

 
158. How many triangles are there in the following figure?  

 
a. 12  b. 13  c. 14  d. 15  e. Answer not know 
gpd;tUk; glj;jpy; vj;jid Kf;Nfhzq;fs; cs;sd? 

 
a. 12  b. 13  c. 14  d. 15  e. tpil njhpatpy;iy 

 

159. A and B can do a piece of work in 12 days, B and C in 15 days, C and A in 20 days. In how 
many days will they finish it together? 
a. 5 days  b. 6 days    c. 10 days    
d. 12 days  e. Answer not know 
A,B ,UtUk; xU Ntiyia 12 ehl;fspy; nra;J Kbg;gh;. B,C  mNj Ntiyia 15 
ehl;fspy; nra;J Kbg;gu;. C, A mNj Ntiyia 20 ehl;fspy; nra;J Kbg;gu;. %tUk; 
Nrh;e;J mt;Ntiyia vj;jid ehl;fspy; nra;J Kbg;gu;? 
a. 5 ehl;fs;  b. 6 ehl;fs;   c. 10 ehl;fs; 
d. 12 ehl;fs;  e. tpil njhpatpy;iy 

 

160. The probability that it will rain tomorrow is 0.91. What is the probability that it will not 
rain tomorrow? 
a. 0.09    b. 1.09    c. 0.90 
d. 1.90    e. Answer not known 
ehisa kio nghoptpw;fhd> epfo;jfT 0.91 vdpy; kio nghopahky; ,Ug;gjw;fhd 
epfo;jfT vd;d? 
a. 0.09    b. 1.09    c. 0.90 
d. 1.90    e. tpil njhpatpy;iy 

 

161. Which of the following statements regarding Anti-defection law are correct?  
a. Anti- defection law is not practiced anywhere else in the world except in India.  
b. A nominated legislator can join a political party anytime without attracting the 

defection.  
c. The decision of a presiding officer regarding defection can not be challenged in the 

court.  
d. All are incorrect. 
e. Answer not known 
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fl;rpj; jhty; jilr; rl;lk; njhlh;ghd gpd;tUk; $w;Wfspy; vJ rhpahdJ? 
a. ,e;jpahitj; jtpu cyfpy; NtW vq;Fk; fl;rpj; jhty; jilr; rl;lk; eilKiwapy; ,y;iy. 
b. xU epakd rl;lkd;w cWg;gpdh; ve;j Neuj;jpYk;  murpay; fl;rpapy; Nruyhk;. 
c. gjtp tpyfy; njhlh;ghd rghehafhpd; Kbit ePjpkd;wj;jhy; kWMa;T nra;a KbahJ. 
d. midj;Jk; jtwhdit. 
e. tpil njhpatpy;iy 
 

162. Choose the correct statements regarding special powers of Rajya Sabha, consider the 
following statements:  
1. Power to transfer a subject from the State List to Union List for a specified period.  
2. To create additional All India Services.  
3. To endorse Emergency for a limited period when the Lok Sabha remains dissolved.  
a. 3 only    b. 1 and 2 only    c. 2 and 3 only  
d. 1, 2 and 3   e. Answer not known 
uh[;arghtpd; rpwg;G mjpfhuq;fs; njhlh;ghd rhpahd $w;Wfisj; Njh;T nra;aTk; 
1. khepy gl;baypy; ,Ue;J ve;j xU JiwiaAk; kj;jpa gl;baYf;F Fwpg;gpl;l fhyj;jpy; khw;w mjpfhuk; cs;sJ 
2. $Ljy; mfpy ,e;jpa gzpfis cUthf;Fk; mjpfhuk; 
3. kf;fsit fiyf;fg;gl;l fhyj;jpy; mtru epiyia Fwpg;gpl;l fhyj;jpw;F mq;fPfhpj;jy; 
a. 3 kl;LNk   b. 1 kw;Wk; 2 kl;LNk  c. 2 kw;Wk; 3 kl;LNk 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

163. Which of the following are mentioned under 8th Schedule as well as Classical Languages of 
India?  
1. Kannada   2. Malayalam   3. Odia  
4. Sanskrit   5. Marathi    6. Santhali  
a. 1, 2, 3, 4 and 5 only  b. 2, 3, 5 and 6 only   c. 1, 2, 3 and 4 only  
d. 1, 2, 3, 4, 5 and 6  e. Answer not known 
gpd;tUtdtw;wpy; vl;lhtJ ml;ltizapy; Fwpg;gpl;l nkhopfspy; nrk;nkhop jFjp tha;e;j nkhopfs; vit? 
1. fd;dlk;  2. kiyahsk;   3. xbah 
4. rk];fpUjk; 5. kuhj;jp   6. re;jhyp 
a. 1> 2> 3> 4 kw;Wk; 5 kl;LNk  b. 2> 3> 5 kw;Wk; 6 kl;LNk 

c. 1> 2> 3 kw;Wk; 4 kl;LNk   d. 1> 2> 3> 4> 5 kw;Wk; 6 
e. tpil njhpatpy;iy 

  
164. This rule allows judges to add or ignore any of the words in the statute while interpreting 

in order to protect the purpose of creating that law and give fair and equal justice to 
everyone. Which of the following doctrines resemble this?  
a. Doctrine of purposive construction   b. Doctrine of Colourable legislation  
c. Doctrine of Eclipse     d. Doctrine of Basic Structure 
e. Answer not known 
,f;Nfhl;ghL xU rl;lj;ij cUthf;Ftjd; Nehf;fj;ijg; ghJfhg;gjw;fhfTk;> midtUf;Fk; epahakhd kw;Wk; rkkhd 
ePjpia toq;Ftjw;fhfTk;> tpsf;fkspf;Fk; NghJ> rl;lj;jpy; cs;s ve;j thh;j;ijfisAk; ePjpgjpfs; Nrh;f;f my;yJ 
Gwf;fzpf;f ,e;j tpjp mDkjpf;fpwJ.  gpd;tUk; Nfhl;ghLfspy; vJ ,ij xj;jpUf;fpwJ?   
a. Nehf;ff; fl;Lkhdf; Nfhl;ghL    b. tz;zkakhd rl;lj;jpd; Nfhl;ghL  
c. fpufzj;jpd; Nfhl;ghL     d. mbg;gil fl;likg;gpd; Nfhl;ghL 
e. tpil njhpatpy;iy 

 
 
 
165. Choose the correct statements regarding Judicial Activism  
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1. The concept came up in the United Kingdom.  
2. It was introduced in India in the 1970s by Justice P N Bhagwati.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
ePjpj;Jiw nray;KidT gw;wpa $w;Wfspy; vJ rhp 
1. ,e;j fUj;J ,q;fpyhe;jpy; ,Ue;J ngwg;gl;lJ.   
2. ,J ,e;jpahtpy; 1970fspy; ePjpgjp gp.vd;.gftjpahy; mwpKfg;gLj;jg;gl;lJ.  
gpd;tUk; mwpf;iffspy; vJ rhpahdJ? 
a. 1 kl;LNk   b. 2 kl;LNk   c. 1 kw;Wk; 2 ,uz;Lk; 
d. ,uz;Lk; ,y;iy  e. tpil njhpatpy;iy 
 

166. Which of the following statements is not correct?  
a. Article 324 of the Constitution entails the provisions related to the chief election 

commissioner and other election commissioners.  
b. The Constitution has not specified the term of the members of the Election Commission.  
c. Election commissioners receive salaries and allowances similar to those of a judge of the 

Supreme Court.  
d. Chief Election Commissioner holds his office at the pleasure of the president.  
e. Answer not known 
gpd;tUk; $w;Wfspy; vJ rhpahdJ my;y? 
a. murpayikg;gpd; 324tJ gphpT jiyik Njh;jy; Mizah; kw;Wk; gpw Njh;jy; Mizah;fs; njhlh;ghd tpjpfis 

cs;slf;fpaJ.   
b. Njh;jy; Mizaj;jpd; cWg;gpdh;fspd; gjtpf;fhyk; Fwpj;J murpayikg;Gr; rl;lk; Fwpg;gpltpy;iy.   
c. Njh;jy; Mizah;fSf;F cr;r ePjpkd;w ePjpgjpf;F epfuhd rk;gsk; kw;Wk; rYiffs; fpilf;Fk;    
d. FbauRj; jiythpd; tpUg;gj;jpw;Nfw;g jiyikj; Njh;jy; Mizah; gjtp tfpf;fpwhh;.  
e. tpil njhpatpy;iy 
 

167. Choose the correct statement regarding Reservation  
1. In Indira Sawhney vs Union of India (1992), the Supreme Court had upheld the 50-

percent ceiling on reservations.  
2. There is no reservation for OBCs in Lakshadweep, Tripura, Meghalaya, Mizoram and 

Arunachal Pradesh.  
3. There are no separate political reservations for OBCs in State legislatures or local 

bodies.  
a. 1 only    b. 2 and 3 only   c. 1 and 2 only  
d. 1, 2 and 3   e. Answer not known 
,lxJf;fPL Fwpj;j rhpahd $w;Wfis Njh;f 
1. ,e;jpuh rht;dp vs ,e;jpa xd;wpak; (1992) tof;fpy;> cr;r ePjpkd;wk; ,lxJf;fPL kPjhd 50 rjtPj cr;rtuk;ig 

cWjp nra;jJ.  
2. yl;rj;jPT> jphpGuh> Nkfhyah> kpNrhuk; kw;Wk; mUzhr;ry gpuNjrj;jpy; XgprpapdUf;F ,lxJf;fPL 

,y;iy. 
3. khepy rl;lkd;wq;fs; my;yJ cs;shl;rp mikg;Gfspy; OBC fSf;F jdp murpay; ,l xJf;fPL ,y;iy. 
a. 1 kl;LNk   b. 2 kw;Wk; 3 kl;LNk c. 1 kw;Wk; 2 kl;LNk 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

168. Which of the statements regarding the Inter-State Council is not correct?  
a. Union Home Minister is the Chairman of the council.  
b. Council’s decisions on inter-state disputes are binding in nature.  
c. The Council may meet at least thrice a year wherein all questions are decided by 

consensus.  
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d. Both a and b 
e. Answer not known 
khepyq;fSf;fpilNaahd fTd;rpy; njhlh;ghd mwpf;iffspy; vJ jtW? 
a. fTd;rpypd; jiytuhf kj;jpa cs;Jiw mikr;rh; cs;shh;. 
b. khepyq;fSf;fpilapyhd jfuhWfspy; fTd;rpypd; KbTfs; fz;bg;ghf gpd;gw;wg;glNtz;Lk;  
c. fTd;rpy; Mz;Lf;F %d;W Kiw $lyhk;> mjpy; midj;J Nfs;tpfSf;Fk; xUkpj;j fUj;Jld; tpsf;fk; mspf;fg;gLk;  
d. a kw;Wk; b 
e. tpil njhpatpy;iy 
 

169. Choose the incorrect statements:  
1. Formation of a new State requires a special majority in the parliament.  
2. A bill calling for the formation of new States may be introduced in Lok Sabha only.  
3. The bill is introduced only on the recommendation of the President.  
a. 1 and 2      b. 2 only    c. 3 only  
d. None of the above  e. Answer not known 
jtwhd $w;Wfis Njh;f 
1. Gjpa khepyk; mikg;gjw;F ehlhSkd;wj;jpy; rpwg;Gg; ngUk;ghd;ik Njit. 
2. Gjpa khepyq;fs; mikg;gjw;fhd kNrhjh kf;fsitapy; kl;LNk mwpKfg;gLj;jg;glyhk;. 
3. FbauRj; jiythpd; ghpe;Jiuapd; Nghpy;jhd; kNrhjh mwpKfg;gLj;jg;glNtz;Lk; 
a. 1 kw;Wk; 2     b.  2 kl;LNk    c. 3 kl;LNk 
d. NkNy vJTk; ,y;iy  e. tpil njhpatpy;iy 
 

170. Which of the following are features of the Electoral Bonds Scheme?  
1. The State Bank of India (SBI) and Reserve bank of India have been authorised to issue 

and encash Electoral Bonds.  
2. Electoral Bonds will be issued in multiples of Rs 1,000, Rs 10,000, Rs 100,000 and Rs 1 

crore.  
3. Electoral Bonds shall be valid for fifteen calendar days from the date of issue.  
4. The electoral bonds will not bear the name of the donor.  
a. 1, 2 and 3 only   b. 1, 2 and 4 only   c. All of these 
d. 2, 3 and 4 only  e. Answer not known 

 gpd;tUtdtw;wpy; Njh;jy; gj;jpuq;fs; jpl;lj;jpd; mk;rq;fs; ahit? 
1. ghuj ];Nll; tq;fp (SBI) kw;Wk; ,e;jpa hprh;t; tq;fp Mfpait Njh;jy; gj;jpuq;fis ntspapLtjw;Fk; 

gzkhf;Ftjw;Fk; mq;fPfhpf;fg;gl;Ls;sd.   
2. &.1>000> &.10>000> &.100>000 kw;Wk; &.1 Nfhb vd gy klq;Ffspy; Njh;jy; gj;jpuq;fs; 

toq;fg;gLk;.. 
3. Njh;jy; gj;jpuq;fs; ntspaplg;gl;l ehspypUe;J gjpide;J  ehl;fSf;F nry;YgbahFk;. 
4. Njh;jy; gj;jpuq;fs; ed;nfhilahshpd; ngaiuf; nfhz;bUf;fhJ. 
a. 1> 2 kw;Wk; 3 kl;LNk  b.  1> 2 kw;Wk; 4 kl;LNk  c. Nkw;$wpa midj;Jk; 
d. 2> 3 kw;Wk; 4 kl;LNk  e. tpil njhpatpy;iy 

 
171. Choose the correct statements regarding the Indian Polity  

1. Adjournment motion is introduced in both the houses of the Parliament.  
2. Adjournment motion needs the support of 50 members to be admitted.  
3. A no-confidence motion can be moved only in Lok Sabha.  
a. All of these  b. 2 only    c. 1 and 3 only  
d. 2 and 3 only  e. Answer not known 
 
 
,e;jpa murikg;G Fwpj;j rhpahd $w;Wfis Njh;f 
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1. ehlhSkd;wj;jpd; ,U mitfspYk; xj;jpitg;G jPh;khdk; mwpKfg;gLj;jg;gLfpwJ. 
2. xj;jpitg;G jPh;khdk; Vw;Wf;nfhs;s 50 cWg;gpdh;fspd; MjuT Njit. 
3. kf;fsitapy; kl;LNk ek;gpf;ifapy;yh jPh;khdk; nfhz;L tu KbAk;. 
a. ,it midj;Jk;  b. 2 kl;LNk   c. 1 kw;Wk; 3 kl;LNk 
d. 2 kw;Wk; 3 kl;LNk e. tpil njhpatpy;iy 

 
172. Choose the correct statements:  

1. Article 323A empowers the Parliament to provide for the establishment of 
administrative Tribunals with respect to conditions of service of persons appointed to 
public services.  

2. The provision for Tribunals was added by the 44th Constitutional Amendment Act.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
rhpahd $w;Wfis Njh;f 
1. tpjp 323A MdJ> nghJg;gzpapy; cs;s egh;fs; Nrit epiyfSf;fhf eph;thf jPh;g;ghaj;ij cUthf;f 

ehlhSkd;wj;jpw;F mjpfhukspf;fpwJ  
2. ,e;j tpjp 44-tJ murpayikg;G rl;l jpUj;jk; %yk; ,izf;fg;gl;lJ  
a. 1 kl;LNk   b. 2 kl;LNk   c. 1 kw;Wk; 2 ,uz;Lk; 
d. ,uz;Lk; ,y;iy  e. tpil njhpatpy;iy 
 

173. Choose the incorrect statements regarding the Deputy Speaker  
1. The Deputy Speaker is subordinate to the Speaker.  
2. He has a special privilege of becoming the Chairman of any Parliamentary Committee 

to which he is a member.  
3. He has voting rights at first instance unlike the Speaker. 
a. 1 only    b. 1 and 3 only    c. All of these 
d. 2 and 3 only  e. Answer not known  
Jiz rghehafh; Fwpj;j jtwhd $w;Wfis Njh;f 
1. Jiz rghehafh; rghehafUf;Ff; fPo; ,aq;Fgth; 
2. mth; cWg;gpduhf cs;s ve;jnthU ghuhSkd;wf; FOtpw;Fk; jiytuhFk; rpwg;Gr; rYif mtUf;F cz;L.  
3. rghehafiug; Nghyy;yhky; mtUf;F Kjypy; thf;Fhpik cz;L.   
a. 1 kl;LNk   b. 1 kw;Wk; 3 kl;LNk  c. Nkw;$wpa midj;Jk; 
d. 2 kw;Wk; 3 kl;LNk e. tpil njhpatpy;iy 
  

174. Choose the correct statements regarding Zonal Councils  
1. The idea of creation of Zonal Councils was mooted by the Prime Minister Indira 

Gandhi.  
2. The Prime Minister is the Chairman of each of these Councils.  
3. It looks after the matter concerning border disputes also.  
a. 1 and 2 only   b. 2 only    c. 3 only  
d. 1, 2 and 3   e. Answer not known 
kz;ly FOf;fs; Fwpj;j rhpahd $w;Wfis Njh;f 
1. kz;ly FOf;fis cUthf;Fk; Nahrid gpujkh; ,e;jpuh fhe;jpahy; cUthf;fg;gl;lJ. 
2. ,e;j fTd;rpy;fs; xt;nthd;Wf;Fk; jiyth; gpujkh; Mthh; 
3. vy;iyg; gpur;ridfs; njhlh;ghd tp\aj;ijAk; ,J ftdpf;fpwJ. 
a. 1 kw;Wk; 2 kl;LNk b. 2 kl;LNk   c. 3 kl;LNk 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

175. Choose the correct statements:  
1. The term ‘secular’ was added to the Preamble in the 44th Constitutional Amendment.  
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2. The freedom of religion is guaranteed to aliens also.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
rhpahd $w;Wfis Njh;f 
1. 44 tJ murpayikg;Gj; jpUj;jj;jpy; ~kjr;rhh;gw;w| vd;w nrhy; Kfg;Giuapy; Nrh;f;fg;gl;lJ. 
2. kj Rje;jpuk; may; ehl;ltUf;Fk; toq;fg;gLfpwJ. 
a. 1 kl;LNk   b. 2 kl;LNk   c. 1 kw;Wk; 2 ,uz;Lk; 
d. ,uz;Lk; ,y;iy  e. tpil njhpatpy;iy 
 

176. Choose the incorrect statements  
1. The Collegium System is prescribed in the constitution.  
2. It consists of the Chief Justice of India with two senior most judges.  
3. National Judicial Appointment Commision Act, 2014 was brought to replace commision.  
a. 1 and 2 only   b. 2 and 3 only   c. 1 and 3 only  
d. 1, 2 and 3   e. Answer not known 

 jtwhd $w;Wfis Njh;f 
1. nfhyP[pak; mikg;G murpayikg;gpy; Fwpg;gplg;gl;Ls;sJ. 
2. ,J ,uz;L %j;j ePjpgjpfSld; ,e;jpaj; jiyik ePjpgjpiaAk; nfhz;Ls;sJ. 
3. ,e;j fkp\Df;Fg; gjpyhf Njrpa ePjpgjpfs; epakd Mizar; rl;lk;> 2014 y; nfhz;Ltug;gl;lJ. 
a. 1 kw;Wk; 2 kl;LNk b. 2 kw;Wk; 3 kl;LNk  c. 1 kw;Wk; 3 kl;LNk 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
177. Which of the following states are covered under the Sixth Schedule of the Constitution?  

1. Assam    2. Meghalaya   3. Tripura   4. Nagaland  
a. 1 and 2 only   b. 2, 3 and 4 only    c. All of these 
d. 1, 2 and 3 only   e. Answer not known 
gpd;tUk; ve;j khepyq;fs; murpayikg;gpd; MwhtJ ml;ltizapd; fPo; cs;sd? 
1. mrhk;   2. Nkfhyah  3. jphpGuh  4. ehfhyhe;J 
a. 1 kw;Wk; 2 kl;LNk b.  2> 3 kw;Wk; 4 kl;LNk  c. Nkw;$wpa midj;Jk; 
d. 1> 2 kw;Wk; 3 kl;LNk e. tpil njhpatpy;iy 
 

178. Choose the correct statements regarding the 103rd Constitutional Amendment Act:  
1. It inserted Article 15 (6) and Article 16 (6) in the Constitution.  
2. It is regarding the provision of reservation in education and government jobs in India.  
3. It granted constitutional status to the National Commission for Backward Classes 

(NCBC).  
a. 1 only    b. 1 and 2 only   c. 1 and 3 only  
d. All of these  e. Answer not known 
103tJ murpayikg;Gj; jpUj;jr; rl;lk; Fwpj;j rhpahd $w;Wfis Njh;f 
1. ,J murpayikg;gpy; 15 (6) kw;Wk; gphpT 16 (6) Mfpatw;iw ,izj;jJ. 
2. ,e;jpahtpy; fy;tp kw;Wk; muR Ntiyfspy; ,lxJf;fPL toq;FtJ njhlh;ghdJ. 
3. ,J gpw;gLj;jg;gl;l tFg;gpdUf;fhd Njrpa Mizaj;jpw;F (NCBC) murpayikg;G me;j];ij toq;fpaJ. 
a. 1 kl;LNk   b. 1 kw;Wk; 2 kl;LNk c. 1 kw;Wk; 3 kl;LNk 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

179. Choose the correct statements:  
1. National Institute of Disaster Management (NIDM) has nodal responsibilities for 

human resource development and capacity building in the field of disaster 
management.  
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2. National Disaster Management Authority (NDMA) can have up to 3 members 
including Chairperson.  

a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
rhpahd $w;Wfis Njh;f  
1. Njrpa Nghplh; Nkyhz;ik epWtdk; (NIDM) kdpjts Nkk;ghL kw;Wk; Nghplh; Nkyhz;ikj; Jiwapy; 

jpwd; Nkk;ghL Mfpatw;wpw;fhd Kf;fpag; nghWg;Gfisf; nfhz;Ls;sJ.   
2. Njrpa Nghplh; Nkyhz;ik Mizaj;jpy; (NDMA) jiyth; cl;gl 3 cWg;gpdh;fs; tiu ,Uf;fyhk;.   
a. 1 kl;LNk   b. 2 kl;LNk   c. 1 kw;Wk; 2 ,uz;Lk; 
d.  ,uz;Lk; ,y;iy  e. tpil njhpatpy;iy 
 

180. Choose the correct statements regarding Central Vigilance Commission:  
1. It has its origin in the Special Police Establishment set up in 1941.  
2. The Commission was given statutory status by an enactment of the CVC Act, 2003.  
3. The Commission consists of a Central Vigilance Commissioner and not more than ten 

Vigilance Commissioners.  
a. 1 only    b. 2 only    c. 2 and 3 only  
d. 1, 2 and 3   e. Answer not known 
kj;jpa tpopg;Gzh;T Mizak; Fwpj;j rhpahd $w;Wfis Njh;f 
1. mjd; Njhw;wk; 1941 ,y; mikf;fg;gl;l rpwg;G fhty; epWtdj;Jld; njhlh;G nfhz;lJ. 
2. CVC rl;lk;> 2003 ,aw;wpajd; %yk; Mizaj;jpw;F rl;lhPjpahd me;j];J toq;fg;gl;lJ. 
3. ,J xU tpopg;Gzh;T Mizaiuf; nfhz;Ls;sJ kw;Wk; mjpfgl;rk; 10 Mizah;fisAk; nfhz;Ls;sJ 
a. 1 kl;LNk   b. 2 kl;LNk   c. 2 kw;Wk; 3 kl;LNk 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

181. The seat of an MLA can be declared vacant if he/she remains absent for how many 
continuous days without the permission of the House?  
a. 30 days    b. 60 days     c. 90 days  
d. 180 days   e. Answer not known 
xU vk;.vy;.V.> rl;lrigapd; mDkjpapd;wp> vj;jid ehl;fs; njhlh;e;J fye;J nfhs;shky; ,Ue;jhy;> mtuJ gjtp 
fhypahdjhf mwptpf;fg;glyhk;? 
a. 30 ehl;fs;   b. 60 ehl;fs;    c. 90 ehl;fs; 
d. 180 ehl;fs;  e. tpil njhpatpy;iy 
 

182. Choose the correct statements.  
1. Attorney General for India is appointed by the President from among persons who are 

“qualified to be appointed a Judge of the Supreme Court”  
2. The Attorney-General of India shall have the right to take part in the proceedings of 

Rajya Sabha only.  
a. 1 Only    b. 2 Only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
rhpahd $w;Wfis Njh;f 
1. ,e;jpahtpw;fhd jiyik tof;fwpQh; FbauRj; jiytuhy; epakpf;fg;gLgth; ,th; "cr;rePjpkd;w ePjpgjpahf 

epakpf;f jFjpAilath;" 
2. ,e;jpahtpd; jiyik tof;fwpQUf;F uh[;argh eltbf;iffspy; kl;LNk gq;Nfw;f chpik cz;L.  
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 ,uz;Lk; 
d. ,uz;Lk; ,y;iy  e. tpil njhpatpy;iy 
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183. Choose the correct statements regarding Central Bureau of Investigation (CBI),  
1. It is a statutory body established under the Special Police Establishment (Amendment) 

Act.  
2. It is the nodal agency in India which coordinates investigation on behalf of Interpol 

Member countries.  
3. CBI can suo motto take investigation only of offences in the Union Territories.  
a. 1 and 2 only   b. 2 and 3 only   c. 1 and 3 only  
d. 1, 2 and 3   e. Answer not known 
kj;jpa Gydha;Tg; gzpafk; (rpgpI) Fwpj;Jg; gpd;tUtdtw;iwf; ftdpAq;fs; 
1. ,J rpwg;G NghyP]; ];jhgd (jpUj;jk;) rl;lj;jpd; fPo; epWtg;gl;l xU rl;lg;g+h;t mikg;ghFk; 
2. ,J ,d;lh;Nghy; cWg;G ehLfspd; rhh;ghf tprhuizia xUq;fpizf;Fk; ,e;jpahtpy; cs;s cr;r mikg;G MFk;. 
3. a+dpad; gpuNjrq;fspy; elf;Fk; Fw;wq;fis kl;LNk rpgpI jd;dpr;irahf tprhhpf;f KbAk;. 
a. 1 kw;Wk; 2 kl;LNk b. 2 kw;Wk; 3 kl;LNk  c. 1 kw;Wk; 3 kl;LNk 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

184. Choose the correct statements regarding Directorate of Enforcement (ED),  
1. The ED enforces the Foreign Exchange Management Act, 1999 (FEMA) which is a 

criminal law.  
2. The ED works under the control of the Ministry of Home Affairs.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
mkyhf;f ,af;Feufk; (ED) Fwpj;j rhpahd $w;Wfis Njh;f 
1. ED me;epa nryhtzp Nkyhz;ik rl;lk;> 1999 (FEMA) gb Fw;wtpay; rl;lj;ij mky;gLj;JfpwJ. 
2. ED cs;Jiw mikr;rfj;jpd; fl;Lg;ghl;bd; fPo; nray;gLfpwJ  
a. 1 kl;LNk   b. 2 kl;LNk   c. 1 kw;Wk; 2 ,uz;Lk; 
d. ,uz;Lk; ,y;iy  e. tpil njhpatpy;iy 

 
185. Choose the correct statements regarding Medical Termination of Pregnancy (MTP) Act 

2021:  
1. It increases the gestational limit for legal abortion from 20 to 24 weeks of all the 

categories of women without requiring the medical advice of doctor.  
2. The Act decriminalises the action of “intentionally causing a miscarriage”.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
kUj;Jtf; fUf;fiyg;G (MTP) rl;lk; 2021 Fwpj;j rhpahd $w;Wfis Njh;f 
1. kUj;Jthpd; kUj;Jt MNyhridapd;wp midj;J tif ngz;fspd; rl;lg;g+h;t fUf;fiyg;Gf;fhd fh;g;gfhy tuk;ig 

20 Kjy; 24 thuq;fs; tiu mjpfhpf;fpwJ. 
2. ,e;j rl;lk; "Ntz;Lnkd;Nw fUr;rpijit Vw;gLj;Jk;" nraiy Fw;wkw;wjhf;FfpwJ.  
a. 1 kl;LNk   b. 2 kl;LNk   c. 1 kw;Wk; 2 ,uz;Lk; 
d. ,uz;Lk; ,y;iy  e. tpil njhpatpy;iy 

 
186. Choose the correct statements regarding the composition of NITI Aayog:  

1. The Prime Minister of India is the Chairperson of the Council.  
2. The Governing Council of the NITI Aayog consists of the Cabinet ministers and 

secretaries.  
3. The Chief Executive Officer is appointed by the Governing Council.  
a. 1 only    b. 2 and 3 only   c. 1 and 3 only  
d. 1, 2 and 3   e. Answer not known 

 NITI MNahf;fpd; mikg;G Fwpj;j rhpahd $w;Wfis Njh;f 
1. ,e;jpag; gpujkh; epjp MNahfpd; jiyth;. 
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2. NITI MNahf;fpd; eph;thf FOtpy; Nfgpdl; mikr;rh;fs; kw;Wk; nrayhsh;fs; cs;sdh;. 
3. jiyik eph;thf mjpfhhp eph;thf FOthy; epakpf;fg;gLfpwhh;. 
a. 1 kl;LNk   b. 2 kw;Wk; 3 kl;LNk c. 1 kw;Wk; 3 kl;LNk 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
187. Choose the correct statements regarding Panchayat Extension to Scheduled Areas Act:  

1. It extends the provisions of Part IX of the Constitution to the tribal areas.  
2. All the states with concerned tribal communities have notified and implemented PESA.  
3. The Forest Right Act does not apply in the areas covered under PESA.  
a. 1 and 2 only   b. 2 only     c. 1 and 3 only  
d. 1, 2 and 3   e. Answer not known 
ml;ltiz gFjpfSf;F gQ;rhaj;J ePl;bg;G rl;lk; Fwpj;j rhpahd $w;Wfis Njh;f 
1. ,J murpayikg;gpd; IX gFjpapd; tpjpfis goq;Fbapd gFjpfSf;F tphpTgLj;JfpwJ. 
2. rk;ge;jg;gl;l goq;Fb r%fq;fisf; nfhz;l midj;J khepyq;fSk; PESA rl;lj;ij mwptpj;J nray;gLj;jpAs;sd 
3. PESA ,d; fPo; cs;s gFjpfspy; td chpikr; rl;lk; nghUe;jhJ. 
a. 1 kw;Wk; 2 kl;LNk b. 2 kl;LNk   c. 1 kw;Wk; 3 kl;LNk 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
188. Choose the correct statements regarding the office of Chief Minister (CM):  

1. A person who is not a member of the state legislature can be appointed as CM for six 
months.  

2. The Chief Minister and other Ministers hold office during the pleasure of the Governor.  
3. The Governor allocates portfolios to the ministers on the advice of the Chief Minister.  
a. 1 and 2 only   b. 2 and 3 only   c. 1 and 3 only  
d. 1, 2 and 3 only  e. Answer not known 
Kjyikr;rh; (CM) mYtyfk; Fwpj;j rhpahd $w;Wfis Njh;f 
1. rl;lkd;w cWg;gpduhf ,y;yhj xUtiu MW khjq;fSf;F Kjy;tuhf epakpf;fyhk;. 
2. Kjyikr;rUk; kw;w mikr;rh;fSk; MSehpd; tpUg;gk; cs;stiu gjtp tfpf;fpd;wdh;. 
3. Kjyikr;rhpd; MNyhridapd;gb mikr;rh;fSf;F MSeh; Jiwfis xJf;Ffpwhh;. 
a. 1 kw;Wk; 2 kl;LNk b. 2 kw;Wk; 3 kl;LNk  c. 1 kw;Wk; 3 kl;LNk 
d. 1> 2 kw;Wk; 3 kl;LNk e. tpil njhpatpy;iy 

 
189. Choose the correct statements regarding the Fundamental Duties  

1. They are incorporated during the beginning of the constitution.  
2. The Fundamental Duties are non-justiciable.  
3. Fundamental duties help the Court in determining the constitutionality of the law.  
a. 1 and 2 only   b. 2 only     c. 2 and 3 only  
d. 1, 2 and 3   e. Answer not known 
mbg;gilf; flikfs; Fwpj;j rhpahd $w;Wfis Njh;f 
1. murpayikg;G cUthf;fg;gLk; nghONj ,e;j gFjp ,izf;fg;gl;bUe;jJ 
2. mbg;gilf; flikfs; ePjp kd;wj;jhy; fl;lha gLj;j KbahJ  
3. murpayikg;Gj; jd;ikia jPh;khdpg;gjpy; mbg;gilf; flikfs; ePjpkd;wj;jpw;F cjTfpd;wd. 
a. 1 kw;Wk; 2 kl;LNk b. 2 kl;LNk   c. 2 kw;Wk; 3 kl;LNk 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
190. Which of the following are the important features of a federal system?  

1. Multiple levels of government   2. Division of Power  
3. Written Constitution    4. Independent Judiciary  
a. 1 and 2 only   b. 2 and 3 only   c. 1, 2 and 4 only  
d. 1, 2, 3 and 4  e. Answer not known 
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 gpd;tUtdtw;wpy; $l;lhl;rp mikg;gpd; Kf;fpa mk;rq;fs; ahit? 
1. gy fl;l murhq;fk;    2. mjpfhug; gphpT 
3. vOjg;gl;l murpayikg;G  4. Rje;jpukhd ePjpj;Jiw 
a. 1 kw;Wk; 2 kl;LNk b. 2 kw;Wk; 3 kl;LNk c. 1> 2 kw;Wk; 4 kl;LNk 
d. 1> 2> 3 kw;Wk; 4  e. tpil njhpatpy;iy 

 
191. Choose the correct statements regarding the Universal Declaration of Human Rights 

(UDHR) 
1. It was proclaimed by the United Nations General Assembly in Paris in 1948.  
2. It was the first legal document to set out the fundamental human rights to be 

universally protected.  
3. It has been translated into over 500 languages.  
a. 1 and 2 only   b. 2 and 3 only    c. 1 and 3 only  
d. 1, 2 and 3   e. Answer not known 
kdpj chpikfSf;fhd cyfshtpa gpufldj;ij (UDHR) fUj;jpy; nfhz;L rhpahd $w;Wfis Njh;f 
1. ,J 1948 ,y; ghhp]py; If;fpa ehLfspd; nghJr; rigahy; mwptpf;fg;gl;lJ. 
2. cyfstpy; ghJfhf;fg;gl Ntz;ba mbg;gil kdpj chpikfis tFj;j Kjy; rl;l Mtzk; ,JthFk;.  
3. ,J 500f;Fk; Nkw;gl;l nkhopfspy; nkhopngah;f;fg;gl;Ls;sJ. 
a. 1 kw;Wk; 2 kl;LNk b.    2 kw;Wk; 3 kl;LNk  c. 1 kw;Wk; 3 kl;LNk 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
192. The jurisprudence of bail in post-independent India, is anchored on the bedrock of which 

of the following articles of the Constitution?  
a. Article 15    b. Article 21     c. Article 28  
d. Article 36   e. Answer not known 
Rje;jpuj;jpw;Fg; gpe;ija ,e;jpahtpy; [hkPd; toq;Ftjw;fhd rl;lf;Nfhl;ghL murpayikg;gpd; gpd;tUk; ve;j 
tpjpapd; mbj;jsj;jpy; njhFf;fg;gl;Ls;sJ? 
a. tpjp  15   b. tpjp 21    c. tpjp 28 
d. tpjp 36   e. tpil njhpatpy;iy 
 

193. Choose the correct statements regarding the Vice President of India 
1. The Vice-President of India is elected by an electoral college consisting of members of 

Rajya Sabha only. 
2. The Election Commission of India conducts the election to the office of the Vice-

President.  
3. All doubts and disputes arising in connection with the election of the Vice-President are 

enquired by the Supreme Court of India.  
a. All of these   b. 2 only     c. 1 and 3  
d. 2 and 3 only  e. Answer not known 
,e;jpaj; Jizf; FbauRj; jiyth; Fwpj;j rhpahd $w;Wfis Njh;f 
1. ,e;jpa Jizf; FbauRj; jiyth; uh[;argh cWg;gpdh;fisf; nfhz;l Njh;jy; FOkj;jhy; Njh;e;njLf;fg;gLfpwhh;. 
2. ,e;jpa Njh;jy; Mizak; Jiz [dhjpgjp gjtpf;fhd Njh;jiy elj;JfpwJ. 
3. Jizf; FbauRj; jiyth; Njh;jy; njhlh;ghf vOk; midj;J re;Njfq;fSk; rh;r;irfSk; ,e;jpa cr;r ePjpkd;wj;jhy; 

jPh;f;fg;gLfpd;wd. 
a. Nkw;$wpa midj;Jk; b. 2 kl;LNk    c. 1 kw;Wk; 3 
d. 2 kw;Wk; 3 kl;LNk e. tpil njhpatpy;iy  
 
 

194. Choose the correct statements regarding the Parliamentary Committees  
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1. Each Departmentally Related Standing Committee comprises 45 members, 30 
nominated from Lok Sabha and 15 from the Rajya Sabha.  

2. The estimates committee has 30 members, all from the Lok Sabha.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
ehlhSkd;w FOf;fs; Fwpj;j rhpahd $w;Wfis Njh;f 
1. xt;nthU Jiw rhh;e;j epiyf;FOtpYk; 45 cWg;gpdh;fs; cs;sdh;> kf;fsitapy; ,Ue;J 30 Ngh; kw;Wk; 

uh[;arghtpy; ,Ue;J 15 Ngh; cWg;gpdh;fshf cs;sdh;. 
2. kjpg;gPl;Lf; FOtpy; 30 cWg;gpdh;fs; cs;sdh;> midtUk; kf;fsitiar; Nrh;e;jth;fs;.  
a. 1 kl;LNk   b. 2 kl;LNk   c. 1 kw;Wk; 2 ,uz;Lk; 
d. ,uz;Lk; ,y;iy  e. tpil njhpatpy;iy 
 

195. Choose the correct statements regarding the National Flag of India:  
1. It was adopted in its present form during India's independence from the British on 15 

August 1947.  
2. The Chakra on the white band of the flag is depicted as the "wheel of the law" in the 

Sarnath Lion Capital made by the 3rd-century BC Mauryan Emperor Ashoka.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
,e;jpahtpd; Njrpaf; nfhb Fwpj;j rhpahd $w;Wfis Njh;f 
1. Mf];l; 15> 1947 ,y; gphpl;b\hhplkpUe;J ,e;jpah Rje;jpuk; ngw;wNghJ mjd; jw;Ngh ija tbtj;jpy; ,J 

Vw;Wf;nfhs;sg;gl;lJ. 
2. fpK 3 Mk; E}w;whz;L nkshpag; Nguurh; mNrhfh; cUthf;fpa rhuehj; rpq;f J}zpy; ,Ue;J ekJ 

nfhbapd; nts;isg; gl;ilapy; cs;s rf;fuk; "rl;lj;jpd; rf;fuk;" vd;W Vw;Wnfhs;sg;gl;lJ. 
a. 1 kl;LNk   b. 2 kl;LNk   c. 1 kw;Wk; 2 ,uz;Lk; 
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 
 

196. If 12 men and 16 boys can do a piece of work in 5 days; 13 men and 24 boys can do it in 4 
days, then the ratio of the daily work done by a man to that of a boy is : 
a. 2 : 1    b. 3 : 1     c. 3 : 2   
d. 5 : 4    e. Answer not know  
12 Mz;fs; kw;Wk; 16 rpWth;fs; xU Ntiyia 5 ehl;fspYk;; 13 Mz;fs; kw;Wk; 24 
rpWth;fs; mt;Ntiyia 4 ehl;fspYk; Kbf;fpd;wdh; vdpy;> Mz; kw;Wk; rpWtdpd; jpdrhp 
Ntiy jpwd; tpfpjj;ijf; fhz;f 
a. 2 : 1   b. 3 : 1    c. 3 : 2   
d. 5 : 4   e. tpil njhpatpy;iy 

 

197. In a certain code, BRAIN is written as *% and TIER is written as $#+%.  How is RENT 
written in that code? 

a. %#$   b. %#$   c. %+$   

d. +%$   e. Answer not know 

xU Fwpg;gpl;l FwpaPl;L nkhopapy; BRAIN vd;gij *% vd;Wk; TIER vd;gij  $#+% 
vd;Wk; vOjyhk;; vdpy;> me;jf; FwpaPl;L nkhopapy; RENT vd;gij vt;thW vOjyhk;?    

a. %#$   b. %#$   c. %+$   

d. +%$   e. tpil njhpatpy;iy 
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198. Find the missing number. 

 
a. 40  b. 60  c. 64  d. 74  e. Answer not known 
tpLgl;l vz;izf; fhz;f.  

 
a. 40  b. 60  c. 64  d. 74  e. tpil njhpatpy;iy  

 
199. A and B together can do a piece of work in 8 days, but A alone can do it 12 days. How 

many days would B alone take to do the same work? 
a. 16 days   b. 18 days    c. 20 days    
d. 24 days  e. Answer not known 
xU Ntiyia A, B ,UtUk; Nru;e;J 8 ehl;fspy; Kbg;gu;. A kl;Lk; mt;Ntiyia 12 
ehl;fspy; Kbg;ghu;. B kl;Lk; mt;Ntiyia vj;jid ehl;fspy; Kbg;ghu;? 
a. 16 ehl;fs;  b. 18 ehl;fs;   c. 20 ehl;fs; 
d. 24 ehl;fs;  e. tpil njhpatpy;iy 

 
200. Circumference of a circle is always  

a. three times of its diameter 
b. more than three times of its diameter 
c. less than three times of its diameter 
d. three times of its radius 
e. Answer not known 
tl;lj;jpd; Rw;wsT vd;gJ vg;NghJk; 
a. mjd; tpl;lj;ij Nghy; %d;W klq;F 
b. mjd; tpl;lj;jpd; %d;W klq;if tpl mjpfk; 
c. mjd; tpl;lj;jpd; %d;W klq;if tplf; FiwT 
d. mjd; Muj;ijg; Nghy; %d;W klq;F 
e. tpil njhpatpy;iy 

 
 

 

 

 


